

Kris W. Kobach, Secretary of State

Vol. 32, No. 45	November 7, 2013	Pages 1309-134
this issue		Page
Kansas Development Finance Authority Notice of hearing on proposed revenue bonds		1310
Kansas Sentencing Commission Notice of 2013 Workshop		
Kansas Water Office Notice of pre-bid meeting		1311
Kansas Commission on Veterans' Affairs Notice of meeting		1311
Legislative interim committee schedule		
Department of Agriculture—Division of Conservation Notice to contractors (revised)		
Kansas Board of Regents Universities Notice to bidders		1312
Department of Revenue—Division of Taxation Request for bids for oil and gas lease		
Kansas Water Authority Notice of meeting		
State Conservation Commission Notice of meeting		1313
Department of Administration–Procurement and Contracts Notice to bidders for state purchases		
North Central Regional Planning Commission Notices to bidders		
Kansas Department of Transportation Notices to consulting firms		
Office of the Governor Notice of available grant funding Executive Directive No. 13-447, authorizing expenditure of		
	federal funds	1315
Department of Health and Environment Requests for comments on proposed air quality permits		1316-1319
Requests for comments on proposed air quality permits Notice concerning water pollution control permits/application	ons	1320
Request for bids for lead hazard reduction		1322
Notice of Bond Sale City of Dodge City		1322
Secretary of State Code mortgage rate for November		1323
Pooled Money Investment Board Notice of investment rates		1323
Wildlife, Parks and Tourism Commission Notice of hearing on proposed administrative regulations		1323
Attorney General Opinions No. 2013-11 through 2013-17		
Permanent Administrative Regulations Department of Revenue		
Temporary Administrative Regulations Kansas Lottery		
Index to administrative regulations		

Kansas Development Finance Authority Notice of Hearing

A public hearing will be conducted at 9 a.m. Thursday, November 21, in the offices of the Kansas Development Finance Authority, 555 S. Kansas Ave., Suite 202, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond, which is then typically purchased by a lender bank who then, through the KDFA, loans the bond proceeds to the borrower for the purposes of acquiring the project. The project shall be located as shown:

Project No. 000858 — **Maximum Principal Amount:** \$501,100. Owner/Operator: Brian Yost. Description: Construction of a 2400-space hog finishing barn to be used by the owner/operator for farming purposes. The project is being financed by the lender for Brian Yost and is located at Section 15, Township 21, Range 1 West, McPherson County, Kansas, approximately 3 miles west, 1 mile south and .5 mile west of Goessel.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

All individuals who appear at the hearing will be given an opportunity to express their views concerning the proposal to issue the bond to finance the project, and all written comments previously filed with the KDFA at its offices at 555 S. Kansas Ave., Suite 202, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

Tim Shallenburger President

Doc. No. 042059

State of Kansas

Kansas Sentencing Commission

Notice of 2013 Workshop

The Kansas Sentencing Commission's 2013 Workshop is scheduled for November 13-14 at the Capitol Plaza Hotel, 1717 S.W. Topeka Blvd., Topeka. The workshop will begin at 9 a.m. each day. Any individual with a disability may request accommodation to attend a KSC meeting. Requests for accommodation should be made at least five working days in advance of the meeting by contacting Brenda Harmon at 785-296-0923.

Scott M. Schultz Executive Director

Doc. No. 042062

The Kansas Register (USPS 0662-190) is an official publication of the state of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly and a cumulative index is published annually by the Kansas Secretary of State. One-year subscriptions are \$80 (Kansas residents must include applicable state and local sales tax). Single copies, if available, may be purchased for \$2. **Periodicals postage paid at Topeka, Kansas. POSTMASTER:** Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2013. Reproduction of the publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

Hard copy subscription information and current and back issues of the Kansas Register (PDF format) can be found at the following link: http://www.sos.ks.gov/pubs/pubs_kansas_register.asp

Published by

Kris W. Kobach Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 785-296-4564 www.sos.ks.gov



Register Office:

1st Floor, Memorial Hall 785-296-3489 Fax 785-296-8577 kansasregister@sos.ks.gov

Kansas Water Office

Notice of Meeting

The Kansas Water Office will conduct a pre-bid meeting for the Smoky Hill Streambank Restoration Invitation for Bid at 10:30 a.m. Thursday, November 7, at the Assaria City Community Center, 315 E. Main St., Assaria.

Tracy Streeter Director

Doc. No. 042056

State of Kansas

Commission on Veterans' Affairs

Notice of Meeting

The Kansas Commission on Veterans' Affairs will meet at 10 a.m. Wednesday, November 20, at the Kansas Veterans' Home in the Timmerman Administration Building, 1220 WWII Memorial Drive, Winfield. The public is invited to attend. For more information call 785-296-3976.

Gregg Burden Executive Director

Doc. No. 042041

State of Kansas

Legislature

Interim Committee Schedule

The Legislative Research Department gives notice that the following legislative committees plan to meet during the period of November 7-21, based on current information and subject to change. Requests for accommodation to participate in committee meetings should be made at least two working days in advance of the meeting by contacting Legislative Administrative Services at 785-296-2391 or TTY 711, or email LegServ@las.ks.gov.

Date	Room	Time	Committee	Agenda
Nov. 7	112-N	8:00 a.m.	Special Committee on Education	Agenda not available.
Nov. 7	152-S	10:00 a.m.	Joint Committee on Kansas Security	Capitol Complex security; Fusion Center briefing; school safety and security; residential care for veterans.
Nov. 7	159-S	9:00 a.m.	Joint Committee on State Building Construction	Review agency five-year plans.
Nov. 7	546-S	9:00 a.m.	Joint Committee on Corrections and Juvenile Justice Oversight	Overview of FY 2014 prison population projections, implementation of the Justice Reinvestment Act, and Kansas Department of Corrections' operations; discussion of 2013 HB 2120, regarding the update of KBI DNA collection procedures, and 2013 SB 41, regarding possession of a firearm during commission of a drug crime.
Nov. 8	546-S	9:00 a.m.	Joint Committee on Corrections and Juvenile Justice Oversight	Study of statutory exemption for "state institutions" from substance abuse treatment licensing requirements.
Nov. 19	152-S	1:30 p.m.	Capitol Preservation Committee	Status of <i>Brown v. Board</i> mural selection process; discussion of application process for new proposals; review of exhibit plans for the visitor center; review of the Capitol landscape plan; timeline for the completion of the Capitol restoration; and tour of renovated areas (if time allows).
Nov. 19	582-N	10:00 a.m.	Special Committee on Agricultural and Natural Resources	Agenda not available.
Nov. 21	159-S	TBA	Joint Committee on State Building Construction	Agenda not available.
				I ((M D 11

Doc. No. 042043

Jeffrey M. Russell Director of Legislative Administrative Services

Department of Agriculture Division of Conservation

Notice to Contractors (Revised)

Sealed bids, in single copy, for the work previously described in the Notice to Contractors published in the October 10, 2013 Kansas Register (page 1229), will be accepted on or before 11 a.m. local time December 3, 2013, at the Garden Plain Senior Center, 1006 N. Main, Garden Plain. All bids will be publicly opened and read for the floodwater retarding rehabilitation dam site R-1. No bids will be accepted after 11 a.m. local time December 3, 2013. If submitting bids by mail be aware of late bid procedures in the bid packet.

Bids should be mailed to James Munyon, contracting officer, c/o Terrell Black, 3651 S. 327th St. West, Cheney, KS 67025 (316-945-40450). Mailed bids must be received not later than noon local time on December 2, 2013.

Prospective bidders may assemble at the Garden Plain Senior Center, 1006 N. Main St., Garden Plain, at 10 a.m. November 19 for a group showing of the worksite.

Complete assembly of the invitation for bids may be obtained from the contracting officer. Bid packets will only be sent to prospective bidders upon request.

Greg A. Foley Executive Director

Doc. No. 042035

State of Kansas

Board of Regents Universities

Notice to Bidders

The universities of the Kansas Board of Regents encourage interested vendors to visit the various universities' purchasing offices' websites for a listing of all transactions, including construction projects, for which the universities' purchasing offices, or one of the consortia commonly utilized by the universities, are seeking information, competitive bids or proposals. The referenced construction projects may include project delivery construction procurement act projects pursuant to K.S.A. 76-7,125 et seq.

Emporia State University – Bid postings: www.emporia.edu/busaff/. Additional contact info: phone: 620-341-5145, fax: 620-341-5073, email: tshepher@emporia.edu. Mailing address: Emporia State University, Controller's Office/Purchasing, Campus Box 4021, 1200 Commercial, Emporia, KS 66801.

Fort Hays State University – Bid postings: www.fhsu.edu/purchasing/bids. Additional contact info: phone: 785-628-4251, fax: 785-628-4046, email: purchasing@fhsu.edu. Mailing address: Fort Hays State Purchasing Office, 601 Park St., 318 Sheridan Hall, Hays, KS 67601.

Kansas State University – Bid postings: www.k-state.edu/purchasing/rfq. Additional contact info: phone: 785-532-6214, fax: 785-532-5577, email: kspurch@k-state.edu. Mailing address: Division of Financial Services/Purchasing, 21 Anderson Hall, Kansas State University, Manhattan, KS 66506.

Pittsburg State University – Bid postings: www.pittstate.edu/office/purchasing. Additional contact info: phone: 620-235-4169, fax: 620-235-4166, email: purch@pittstate.edu. Mailing address:

Pittsburg State University, Purchasing Office, 1701 S. Broadway, Pittsburg, KS 66762-7549.

University of Kansas – Electronic bid postings: http://www.procurement.ku.edu/. Paper bid postings and mailing address: KU Purchasing Services, 1246 W. Campus Road, Room 20, Lawrence, KS 66045. Additional contact info: phone: 785-864-5800, fax: 785-864-3454, email: purchasing@ku.edu.

University of Kansas Medical Center – Bid postings: http://www2.kumc.edu/finance/purchasing/bids.html. Additional contact info: phone: 913-588-1100, fax: 913-588-1102. Mailing address: University of Kansas Medical Center, Purchasing Department, Mail Stop 2034, 3901 Rainbow Blvd., Kansas City, KS 66160.

Wichita State University – Bid postings: www.wichita.edu/purchasing. Additional contact info: phone: 316-978-3080, fax: 316-978-3528. Mailing address: Wichita State University, Office of Purchasing, 1845 Fairmount Ave., Campus Box 12, Wichita, KS 67260-0012.

Tess Shepherd Chair of Regents Purchasing Group Procurement Officer II Emporia State University

Doc. No. 041700

State of Kansas

Department of Revenue Division of Taxation

Request for Bids for Oil and Gas Lease

By order of the director of taxation of the state Department of Revenue, for the state of Kansas:

The director of taxation will receive bids for the leasing of oil and gas rights in and to the portion of the Arkansas Riverbed, the property of the state of Kansas, described as follows:

That portion of the Arkansas Riverbed as it meanders through Section 16, Township 27 South, Range 23 West, Ford County, Kansas: containing 41 acres, more or less.

The bidding shall be considered upon the amount of bonus, annual rental and royalty to be paid. Due to the cost of processing, no bids will be accepted for less than \$100 on small tracts of less than 100 acres.

Bids shall be submitted upon forms obtained from the director of the Division of Taxation, Docking State Office Building, 915 S.W. Harrison, Topeka, 66625.

Lease shall be made on forms provided by the state for a term of five years. The successful bidder pays publication costs in the local paper and in the Kansas Register.

Bids shall be opened at the office of the director of taxation at 2 p.m. December 9, 2013.

The director of taxation reserves the right to reject any and all bids and to re-advertise.

Steven A. Stotts Director of Taxation

Doc. No. 042058

Kansas Water Authority

Notice of Meeting

The Kansas Water Authority will meet at 10:30 a.m. Friday, November 22, at the Hughes Metropolitan Complex, Room 132, 5015 E. 29th St. North, Wichita. The agenda and meeting materials are available on the Kansas Water Office (KWO) website, www.kwo.org, or copies may be requested from the KWO at 901 S. Kansas Ave., Topeka, 66612-1249, 785-296-3185 or 888-526-9283 (KANWATER). If accommodations are needed for persons with disabilities, please notify the KWO at least five working days prior to the meeting.

Gary Harshberger Chairman

Doc. No. 042037

State of Kansas

State Conservation Commission

Notice of Meeting

The State Conservation Commission will meet at 2 p.m. Sunday, November 24, at the DoubleTree by Hilton Hotel Wichita Airport, Consulate III meeting room, 2098 Airport Road, Wichita. A copy of the agenda may be obtained by contacting Cathy Thompson, Department of Agriculture, Division of Conservation, 109 S.W. 9th St., 2A, Topeka, 66612-1283, 785-296-3600. If special accommodations are needed, please contact the agency at least three days in advance of meeting date.

Greg A. Foley Executive Director Division of Conservation

Doc. No. 042039

(Published in the Kansas Register November 7, 2013.)

North Central Regional Planning Commission

Notice to Bidders

Sealed bids for eighteen (18) thermal imaging cameras will be accepted by the North Central Regional Planning Commission, 109 N. Mill St., Beloit, 67420, until 3 p.m. (CST) Wednesday, November 27, 2013, at which time they will be publicly opened and read aloud at the same address. Copies of Instructions to Bidders and project specifications can be accessed by going to http://www.ncrpc.org/index.html or by contacting the NCRPC at 785-738-2218 or angell.sherry@gmail.com. This action is being taken on behalf of the Northwest Kansas Regional Homeland Security Council. The estimated project value exceeds \$50,000.

Sherry L. Angell NCKPHI Regional Coordinator

Doc. No. 042032

(Published in the Kansas Register November 7, 2013.)

North Central Regional Planning Commission

Notice to Bidders

Sealed bids for two (2) long range acoustic devices (LRAD) plus accessories will be accepted by the North Central Regional Planning Commission, 109 N. Mill St., Beloit, 67420, until 3 p.m. (CST) Friday, November 22, 2013, at which time they will be publicly opened and read aloud at the same address. Copies of Instructions to Bidders and project specifications can be accessed by going to www.ncrpc.org (click on the Homeland Security link) or by contacting the NCRPC at 785-738-2218 or jcyr@nckcn.com. This action is being taken on behalf of the Northeast Kansas Regional Homeland Security Council. The estimated project value exceeds \$25,000.

John R. Cyr Special Project Coordinator

Doc. No. 042034

State of Kansas

Department of Administration Procurement and Contracts

Notice to Bidders

Sealed bids for items listed will be received by the director of Procurement and Contracts until 2 p.m. on the date indicated. For more information call 785-296-2376:

11/18/2013	EVT0002734	Janitorial Services — Wichita,
		Andover & Derby
11/19/2013	EVT0002751	Boat, Trailer and Motors
11/20/2013	EVT0002757	Print/Mail Services — Annual
		Statements
11/21/2013	EVT0002745	Transportation Services —
		Patient
11/21/2013	EVT0002761	Educational Services
11/29/2013	EVT0002759	Forestry and Wildlife Habitat
		Services
12/02/2013	EVT0002744	Lower Smoky Hill River
		Streambank Stabilization
12/06/2013	EVT0002724	Freight Management Services

The above-referenced bid documents can be downloaded at the following website:

http://www.da.ks.gov/purch/contracts/bids.aspx

Additional files may be located at the following website (please monitor this website on a regular basis for any changes/addenda):

http://da.ks.gov/purch/adds/default.htm

11/20/2013 A-012373 Alumni Drive — Pedestrian Plaza Phase 1 — Wichita State University, Wichita

Information regarding prequalification, projects and bid documents can be obtained at 785-296-8899 or http://da.ks.gov/fp/.

Tracy T. Diel, Director Procurement and Contracts

Doc. No. 042057

(Published in the Kansas Register November 7, 2013.)

North Central Regional Planning Commission

Notice to Bidders

Sealed bids for three (3) generators will be accepted by the North Central Regional Planning Commission, 109 N. Mill St., Beloit, 67420, until 3 p.m. (CST) Friday, December 6, 2013, at which time they will be publicly opened and read aloud at the same address. Copies of Instructions to Bidders and project specifications can be accessed by going to http://www.ncrpc.org/index.html or by contacting the NCRPC at 785-738-2218 or jcyr@nckcn.com. This action is being taken on behalf of the Southwest Kansas Regional Homeland Security Council. The estimated project value exceeds \$25,000.

John R. Cyr Special Project Coordinator

Doc. No. 042033

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation is seeking qualified consulting firms prequalified in Categories 241 Construction Inspection for Engineering Services, as described below. A PDF (1Mb maximum size) of the interest response must be emailed to David J. Nagy, P.E., assistant to the director of design/contracts engineer, at DavidN@ksdot.org. Interest and experience responses are limited to four pages and the subject line of the reply email and the PDF file name must read "On-Call Inspection-Firm Name." The letter of interest and an Excel spreadsheet listing "Inspector Name, Certification No., Office Location (City), and Expirations by Inspection Categories" (similar to what is contained in KDOT's prequalification form No. 1050) must be received by noon November 21, 2013, for the consulting firm to be considered. View categories at http://www.ksdot.org/divengdes/prequal/default.asp.

Project: On-Call LPA Inspection Services—Statewide

The Kansas Department of Transportation is seeking qualified firms to provide construction inspection services for a pool that the LPAs can choose from for construction inspection staff on LPA construction projects statewide. The scope of services is to provide construction inspection services on an as-needed basis statewide. Firms selected will be required to provide the following services:

- 1. Grading inspection
- 2. Structures inspection
- 3. Asphalt inspection (plant and/or road)
- 4. Concrete pavement plant and road inspection
- 5. Environmental specialist
- 6. Materials testing
- 7. Contract documentation
- 8. Traffic control inspection
- 9. Seeding
- 10. Other similar services, etc

The Consultant Shortlist Committee will select several of the most highly qualified firms expressing interest and schedule an individual interview for the project. The consulting firms can more thoroughly discuss their experience related to the project at the interview and will be expected to discuss their approach to this project in detail and the personnel to be assigned to this project. View categories at www.ksdot.org/divengdes/prequal.

The Consultant Selection Committee, appointed by the secretary of the Department of Transportation, will conduct the discussions with the firms invited to the individual interview conferences. The committee will select several firms to perform the professional services required for completing the advertised project.

It is KDOT's policy to use the following criteria as the basis for selection of the consulting engineering firms:

- 1. Size and professional qualifications.
- 2. Experience of staff.
- 3. Location of firm with respect to project(s).
- 4. Work load of firm.
- 5. Firm's performance record.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support cost and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information contact David Nagy at 785-296-0930 or DavidN@ksdot.org.

Jim L. Kowach, P.E., Director Division of Engineering and Design

Doc. No. 042053

State of Kansas

Department of Transportation

Notice to Consulting Firms

The Kansas Department of Transportation is seeking qualified consulting firms prequalified in Categories 301 and 302 — Land Surveying and Engineering Surveying for Engineering Services, as described below. A PDF (1Mb maximum size) of the interest response must be emailed to David J. Nagy, P.E., assistant to the director of design/contracts engineer, at DavidN@ksdot.org. Interest and experience responses are limited to four pages and the subject line of the reply email and the PDF file name must read "On-Call Survey-Firm Name." The letter of interest must be received by noon November 21, 2013, for the consulting firm to be considered. View categories at http://www.ksdot.org/divengdes/prequal/default.asp.

Project: On-Call Surveying Services—Statewide

The Kansas Department of Transportation is seeking qualified firms to provide surveying services for the district offices to choose. The scope of services is to provide surveying services on an as-needed basis statewide. Firms selected will be required to provide the following services:

The survey activities included are those required to support the sound conception, planning and design of engineered projects. Firms qualified in this area shall have the ability and past experiences of key staff in charge of these types of surveys. Land surveying services shall be conducted under the direct supervision of a registered land surveyor, registered to practice in the state of Kansas. All land surveys shall adhere to the Minimum Standards for the Practice of Land Surveying adopted by the Kansas State Board of Technical Professions. The firm shall have the experience and ability in working in a roadway environment, with emphasis on traffic control and recovery of existing monumentation beneath hard surface roads. The survey crew(s) shall be equipped with traverse type survey equipment, including an electronic distance-measuring instrument for measurement of distances encountered on the survey and GPS equipment. Personnel shall also be aware of KDOT policies, procedures and practices.

The Consultant Shortlist Committee will select several of the most highly qualified firms expressing interest and schedule an individual interview for the project. The consulting firms can more thoroughly discuss their experience related to the project at the interview and will be expected to discuss their approach to this project in detail and the personnel to be assigned to this project. View categories at www.ksdot.org/divengdes/prequal.

The Consultant Selection Committee, appointed by the secretary of the Department of Transportation, will conduct the discussions with the firms invited to the individual interview conferences. The committee will select several firms to perform the professional services required for completing the advertised project.

It is KDOT's policy to use the following criteria as the basis for selection of the consulting engineering firms:

- 1. Size and professional qualifications.
- 2. Experience of staff.
- 3. Location of firm with respect to project(s).
- 4. Work load of firm.
- 5. Firm's performance record.

The firm's accounting systems must have the following capabilities before the firm may be awarded a contract:

- Valid, reliable and current costs must be available within the system to support cost and pricing data.
- Capability to provide a means of measuring the reasonableness of incurred costs.
- Capability to identify and accumulate allowable costs by contract or project records that will reconcile with the general ledger.
- Ability to provide supporting documentation of actual expenditures for each billing, based on costs.

For more information contact David Nagy at 785-296-0930 or DavidN@ksdot.org.

Jim L. Kowach, P.E., Director Division of Engineering and Design

Doc. No. 042052

State of Kansas

Office of the Governor

Notice of Available Grant Funding

Grant funds are available from the federal Sexual Assault Services Grant Program (SASP) for calendar year 2014. The purpose of SASP is to provide intervention, advocacy, accompaniment (e.g., accompanying victims to court, medical facilities, police departments, etc.), support services and related assistance for adult, youth and child victims of sexual assault, family and household members of victims, and those collaterally affected by sexual assault. This grant program recognizes the need to increase focus on sexual assault to help address the lack of available direct intervention and related assistance services and the unique aspects of sexual assault trauma. Women and men of all ages, as well as children, can be victims of sexual assault.

There is approximately \$249,400 available for grant awards. Available grant funds may be awarded to non-profit, community or faith-based organizations whose primary purpose is providing rape and sexual assault services. Priority will be given to applicants who are rape/sexual assault crisis centers providing direct intervention and related assistance to victims/survivors, and to dual programs that provide sexual assault and domestic violence services to enhance the provision of sexual assault-related direct intervention and related assistance services.

The application is available on the Governor's Grant Portal at https://www.kansas.gov/grants/index.do or a copy of the application may be downloaded at https://governor.ks.gov/serving-kansans/grants-program/grant_opportunities/federal-sexual-assault-services-grant-program. All grant applications must be submitted via the Governor's Grant Portal by 11:59 p.m. December 9, 2013. To quickly locate the grant in the Grant Portal use "SASP" for the keywords in your search.

Adrienne Cook, Administrator Governor's Grants Program

Doc. No. 042054

State of Kansas

Office of the Governor

Executive Directive No. 13-447 Authorizing Expenditure of Federal Funds

By virtue of the authority vested in the Governor as the head of the Executive Branch of the State of Kansas, the following transactions are hereby authorized:

Pursuant to the authority of the Secretary of Health and Environment to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Department of Health and Environment for expenditure in FY 2014 of monies in the account "Energy Assistance Block Grant—Federal Fund."

Pursuant to the authority of the Secretary of Health and Environment to receive and expend federal funds, and pursuant to the authority granted the Governor by Sec-

(continued

tion 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Department of Health and Environment for expenditure in FY 2014 of monies in the account "Supplemental Nutrition Assistance Program—Admin.—Federal Fund."

Pursuant to the authority of the Secretary of Health and Environment to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Department of Health and Environment for expenditure in FY 2014 of monies in the account, "Temporary Assistance for Needy Families—Federal Fund."

Pursuant to the authority of the Secretary of Health and Environment to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Department of Health and Environment for expenditure in FY 2014 of monies in the account "Title IV-E—Adoption Assistance—Federal Fund."

Pursuant to the authority of the Adjutant General to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the Adjutant General's Department for expenditure in FY 2014 of monies in the account "State and Local Implementation Grant Program—Federal Fund."

Pursuant to the authority of the State Fire Marshal to receive and expend federal funds, and pursuant to the authority granted the Governor by Section 288 of Chapter 136 of *The 2013 Session Laws of Kansas*, approval is hereby granted to the State Fire Marshal for expenditure in FY 2014 of monies in the account "FFY12 HMEP Grant—Federal Fund."

I have conferred with the Director of the Budget and members of my staff, and I have determined that the guidelines set forth in KSA 75-3711 and 75-3711c have been applied and that none of the foregoing actions exceeds the limitations contained therein.

Dated October 29, 2013.

Sam Brownback Governor

Doc. No. 042055

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Natural Gas Pipeline Company of America — Compressor Station 194 has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting

requirements applicable to each source as of the effective date of permit issuance.

Natural Gas Pipeline Company of America — Compressor Station 194, 2 N. Nevada, Colorado Springs, CO 80903, owns and operates a natural gas compressor station located at Section 2, Township 14S, Range 10W, Ellsworth County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours, 8 a.m. to 5 p.m., at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE North Central District Office, 2501 Market Place, Suite D, Salina. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Stan Marshall, 785-827-9639, at the KDHE North Central District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon December 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon December 9 in order for the secretary of the Department of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042036

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Hess Services, Inc. has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Hess Services Inc., P.O. Box 843, Hays, 67601, owns and operates a sandblasting and metal parts painting facility located at 2670 E. 9th, Hays, 67601.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KHDE Northwest District Office, 2301 E. 13th St., Hays. To obtain or review the proposed permit and supporting documentation, contact Ashley Eichman, 785-296-1713, at the KDHE central office, or Larissa Parker, 785-625-5663, at the KHDE Northwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Ashley Eichman, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon December 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Ashley Eichman, KDHE, Bureau of Air, not later than noon December 9 in order for the secretary of the Department of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042049

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Southern Star Central Gas Pipeline, Inc.—Grabham Compressor Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Southern Star Central Gas Pipeline, Inc., P.O. Box 20010, Owensboro, KY 42304, owns and operates the Grabham Compressor Station, a natural gas compressor station located at Section 27, Township 33S, Range 15E, Montgomery County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Southeast District Office, 1500 W. 7th St., Chanute. To obtain or review the proposed permit and supporting documentation, contact Barbara Bangert, 785-296-1582, at the KDHE central office, or Doug Cole, 620-431-2390, at the KDHE Southeast District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Barbara Bangert, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon December 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Barbara Bangert, KDHE, Bureau of Air, not later than noon December 9 in order for the secretary of the Department Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writ-

(continued,

ing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042045

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Southern Star Central Gas Pipeline, Inc.—Levant Compressor Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Southern Star Central Gas Pipeline, Inc., P.O. Box 20010, Owensboro, KY 42304, owns and operates the Levant Compressor Station, a natural gas compressor station located at Section 24, Township 5S, Range 35W, Rawlins County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Northwest District Office, 2301 E. 13th St., Hays. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Larissa Parker, 785-625-5663, at the KDHE Northwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit de-

cision, written comments must be received not later than noon December 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon December 9 in order for the secretary of the Department of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042046

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Southern Star Central Gas Pipeline, Inc.—Montezuma Compressor Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source; and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Southern Star Central Gas Pipeline, Inc., P.O. Box 20010, Owensboro, KY 42304, owns and operates the Montezuma Compressor Station, a natural gas compressor station located at Section 25, Township 28S, Range 29W, Gray County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours

at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Southwest District Office, 302 W. McArtor Road, Dodge City. To obtain or review the proposed permit and supporting documentation, contact Barbara Bangert, 785-296-1582, at the KDHE central office, or Ethel Evans, 620-356-1075, at the KDHE Southwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Barbara Bangert, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon December 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Barbara Bangert, KDHE, Bureau of Air, not later than noon December 9 in order for the secretary of the Department of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042047

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality operating permit. Southern Star Central Gas Pipeline, Inc.—Ogallah Compressor Station has applied for a Class I operating permit renewal in accordance with the provisions of K.A.R. 28-19-510 et al. The purpose of a Class I permit is to identify the sources and types of regulated air pollutants emitted from the facility; the emission limitations, standards and requirements applicable to each source;

and the monitoring, record keeping and reporting requirements applicable to each source as of the effective date of permit issuance.

Southern Star Central Gas Pipeline, Inc., P.O. Box 20010, Owensboro, KY 42304, owns and operates the Ogallah Compressor Station, a natural gas compressor station located at Section 11, Township 13S, Range 22W, Trego County, Kansas.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review during normal business hours at the KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, and at the KDHE Northwest District Office, 2301 E. 13th St., Hays. To obtain or review the proposed permit and supporting documentation, contact Cathy Richardson, 785-296-1947, at the KDHE central office, or Larissa Parker, 785-625-5663, at the KDHE Northwest District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to Cathy Richardson, KDHE, Bureau of Air, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received not later than noon December 9.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Cathy Richardson, KDHE, Bureau of Air, not later than noon December 9 in order for the secretary of the Department of Health and Environment to consider the request.

The U.S. Environmental Protection Agency has a 45-day review period, which will start concurrently with the 30-day public comment period, within which to object to the proposed permit. If the EPA has not objected in writing to the issuance of the permit within the 45-day review period, any person may petition the administrator of the EPA to review the permit. The 60-day public petition period will directly follow the EPA's 45-day review period. Interested parties may contact KDHE to determine if the EPA's 45-day review period has been waived.

Any such petition shall be based only on objections to the permit that were raised with reasonable specificity during the public comment period provided for in this notice, unless the petitioner demonstrates that it was impracticable to raise such objections within such period, or unless the grounds for such objection arose after such period. Contact Ward Burns, U.S. EPA, Region VII, Air Permitting and Compliance Branch, 11201 Renner Blvd., Lenexa, 66219, 913-551-7960, to determine when the 45-day EPA review period ends and the 60-day petition period commences.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042048

Department of Health and Environment

Notice Concerning Kansas/Federal Water Pollution Control Permits and Applications

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 17, 28-18a-1 through 33, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, various draft water pollution control documents (permits, notices to revoke and reissue, notices to terminate) have been prepared and/or permit applications have been received for discharges to waters of the United States and the state of Kansas for the class of discharges described below.

The proposed actions concerning the draft documents are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the Environmental Protection Agency. The final action will result in a Federal National Pollutant Discharge Elimination System Authorization and/or a Kansas Water Pollution Control permit being issued, subject to certain conditions, revocation and reissuance of the designated permit or termination of the designated permit.

Public Notice No. KS-AG-13-309/311 Pending Permits for Confined Feeding Facilities

U		U
Name and Address of Applicant	Legal Description	Receiving Water
Gary D. Duerksen D & S Hog Farm 2209 N. Chisholm Trail Lehigh, KS 67073	SE/4 of Section 16, T19S, R01E, Marion County	Neosho River Basin

Kansas Permit No. A-NEMN-S010

This permit is being reissued for an existing facility with a maximum capacity of 990 head (396 animal units) of swine more than 55 pounds and 400 head (40 animal units) of swine 55 pounds or less. There is no change in the permitted animal units.

Name and Address of Applicant	Legal Description	Receiving Water
Don Owens	NE/4 of Section 28,	Cimarron River
Seaboard Foods —	T31S, R39W,	Basin
Dermot Truckwash	Morton County	
2801 Hurliman Road	-	
Guymon, OK 73942		

Kansas Permit No. A-CIMT-T001

This permit is being reissued for an existing private truck wash utilized to wash out approximately 40 feed trucks and 60 livestock trucks/ trailers per week. No changes have been made at the facility from the previous permit.

Name and Address of Applicant	Legal Description	Receiving Water
Dennis Schwarz	SE/4 of Section 27,	Smoky Hill River
Cedar Hill Inc.	T15S, R01E,	Basin
467 800 Ave.	Dickinson County	
Carlton, KS 67448	•	

Kansas Permit No. A-SHDK-M011

This permit is being reissued for an existing dairy facility for 400 head (560 animal units) of mature dairy cattle and 100 head (50 animal units) of dairy calves weighing less than 700 pounds. There is no change in the permitted animal units from the previous permit.

Public Notice No. KS-AG-R-13-006

Per K.S.A. 65-171d, the following registration has been received for a proposed confined feeding facility:

1 1	O	,
Name and Address of Registrant	Legal Description	County
Gary and Bryson Huxman Happy Hollow Farms 2541 Arrowhead Road Moundridge, KS 67107	NW/4 of Section 29, T21S, R01W	McPherson

Public Notice No. KS-Q-13-127/134

The requirements of the draft permits public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-g), and Federal Surface Water Criteria:

Name and Address	Receiving	Type of
of Applicant	Stream	Discharge
Galena, City of	Spring River via	Treated Domestic
211 W. 7th St.	Unnamed Tributary	Wastewater
Galena KS 66739	•	

Kansas Permit No. M-NE28-OO01 Federal Permit No. KS0048135 Legal Description: W½, NE¼, S22, T34S, R25E, Cherokee County, KS

The proposed action is to reissue an existing permit for the operation of an existing wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen, total recoverable copper, lead and zinc, and pH. Contained in the permit is a schedule of compliance requiring the permittee to submit to KDHE for approval a collection system and lagoon survey and evaluation study including recommendations, implementation schedule and estimated costs involved. Permittee will also be required to submit an evaluation and report of the status of the existing lagoons, which is to include operational controls, piping, structures, sludge levels, quality and disposal options and cost.

Name and Address	Receiving	Type of
of Applicant	Stream	Discharge
Geneseo, City of	Little Arkansas	Treated Domestic
P.O. Box 257	River	Wastewater
Geneseo, KS 67444		

Kansas Permit No. M-LA04-OO02 Federal Permit No. KS0098175 Legal Description: NE¹/₄, NE¹/₄, SE¹/₄, S1, T18S, R8W, Rice County, KS

The proposed action is to reissue an existing permit for the operation of an existing three-cell wastewater treatment lagoon facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Hillsboro, City of P.O. Box 125 Hillsboro, KS 67063	South Cottonwood River via Unnamed Tributary	Treated Domestic Wastewater

Kansas Permit No. M-NE35-OO02 Federal Permit No. KS0097896 Legal Description: SE¹/₄, NE¹/₄, S35, T19S, R2E, Marion County, KS

The proposed action is to reissue an existing permit for the operation of an existing three-cell wastewater treatment lagoon facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, total phosphorus and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Nickerson, City of P.O. Box 52 Nickerson, KS 67561	Arkansas River	Treated Domestic Wastewater

Kansas Permit No. M-AR66-OO02 Federal Permit No. KS0098132 Legal Description: SW¹/₄, SE¹/₄, S14, T22S, R7W, Reno County, KS The proposed action is to reissue an existing permit for the operation of an existing three-cell wastewater treatment lagoon facility and monitoring well. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, sulfates, chlorides, nitrate, water level in the final cell and pH.

Name and Address
of ApplicantReceiving
StreamType of
DischargeNorton, City of
301 E. Washington St.Republican River
via Prairie DogTreated Domestic
Wastewater

Norton, KS 67654 Creek

Kansas Permit No. M-UR16-OO03 Federal Permit No. KS0097730 Legal Description: NW¹/₄, SE¹/₄, SE¹/₄, S35, T2S, R23W, Norton County,

The proposed action is to reissue an existing permit for the operation of an existing three-cell wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli and pH, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen, total nitrogen and flow.

Name and AddressReceivingType ofof ApplicantStreamDischargeShawnee Hills MHP, LLCSouth BranchTreated DomesticP.O. Box 457ShunganungaWastewaterCedaredge, CO 81413Creek via Unnamed

Tributary

Kansas Permit No. C-KS72-OO11 Federal Permit No. KS0119903

Legal Description: SE¼, NW¼, SE¼, S34, T12S, R15E, Shawnee County, KS

Facility Name: Shawnee Hills Mobile Home Community Facility Address: 4420 S.W. 61st St., Topeka, KS

The proposed action is to reissue an existing permit for the operation of an existing three-cell wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand, total suspended solids, ammonia, E. coli and pH, as well as monitoring for total phosphorus, nitrate + nitrite, total Kjeldahl nitrogen and total nitrogen.

Name and Address	Receiving	Type of
of Applicant	Stream	Discharge
Solomon, City of	Solomon River	Treated Domestic
P.O. Box 273		Wastewater
Solomon, KS 67480		

Kansas Permit No. M-SO39-OO01 Federal Permit No. KS0085979 Legal Description: NW¼, SW¼, NW¼, S19, T13S, R1E, Dickinson County, KS

The proposed action is to reissue an existing permit for the operation of an existing four-cell wastewater treatment facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli, total phosphorus, chlorides, sulfates and pH.

Name and Address of Applicant	Receiving Stream	Type of Discharge
Viola, City of	Ninnescah River	Treated Domestic
P.O. Box 302	via Unnamed	Wastewater
Viola, KS 67149	Tributary	

Kansas Permit No. M-AR90-OO01 Federal Permit No. KS0027880 Legal Description: SE½, SW¼, NE⅓, S33, T29S, R3W, Sedgwick County, KS

The proposed action is to reissue an existing permit for the operation of an existing three-cell wastewater treatment lagoon facility. The proposed permit contains limits for biochemical oxygen demand and total suspended solids, as well as monitoring for ammonia, E. coli and pH.

Public Notice No. KS-NQ-13-029/031

The requirements of the draft permits public noticed below are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-g):

Name and Address of Applicant	Legal Location	Type of Discharge
Charles Ray Hall 7700 N. Broadway	NE ¹ / ₄ , NE ¹ / ₄ , S5, T26S, R1E,	Nonoverflowing
Wichita, KS 67219	Sedgwick County,	

Kansas Permit No. C-AR69-NO01 Federal Tracking No. KSJ000193 Facility Name: 81 Speedway Wastewater Treatment Facility

This action consists of reissuing an existing Kansas Water Pollution Control Permit for a nonoverflowing treatment facility. Contained in the permit is a schedule of compliance requiring the permittee to provide KDHE with an operations and wastewater treatment lagoon evaluation including proposed schedule for improvements, if necessary, to bring the facility into consistent compliance with permit requirements.

Name and Address of Applicant	Legal Location	Type of Discharge
Moscow, City of	SW1/4, SE1/4, SW1/4,	Nonoverflowing
P.O. Box 7	S23, T31S, R36W,	· ·
Moscow, KS 67952	Stevens County, KS	

Kansas Permit No. M-CI15-NO01 Federal Tracking No. KSJ000413
This action consists of reissuing an existing Kansas Water Pollution Control Permit for a nonoverflowing treatment facility, with provisions for irrigation. The proposed permit contains limits for biochemical oxygen demand, E. coli and water level in the final cell. Contained in the permit is a schedule of compliance requiring the permittee to provide KDHE with an operations and wastewater treatment lagoon evaluation including proposed schedule for improvements, if necessary, to bring the facility into consistent compliance with permit requirements. The permittee is also required to obtain the services of a KDHE-certified wastewater operator to supervise the operation

Name and Address of Applicant Location Discharge

Wolf Creek Nuclear Operating Corp. S3, T19S, R15E, P.O. Box 411 Coffey County, KS

Burlington, KS 66839

of this facility.

Kansas Permit No. C-MC57-NO02 Federal Tracking No. KSJ000675 Facility Name: Wolf Creek Emergency Operations Facility Facility Location: 2718 Lynx Place, Lebo, KS 66856

This action consists of issuing a new Kansas Water Pollution Control Permit for a nonoverflowing treatment facility.

Persons wishing to comment on the draft documents and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments considered in the decision-making process. Comments should be submitted to the attention of the Livestock Waste Management Section for agricultural-related draft documents or applications, or to the Technical Services Section for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft documents or application notices received on or before December 7 will be considered in the formulation of the final determinations regarding this public notice. Please refer to the appropriate Kansas document number (KS-AG-13-309/311, KS-AG-R-006, KS-Q-13-127/134, KS-NQ-13-029/031) and name of the applicant/permittee when preparing comments.

After review of any comments received during the public notice period, the secretary of the Department of

Health and Environment will issue a determination regarding final agency action on each draft document/application. If response to any draft document/application indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC).

All draft documents/applications and the supporting information including any comments received are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water. These documents are available upon request at the copying cost assessed by KDHE. Application information and components of plans and specifications for all new and expanding swine facilities are available on the Internet at http://www.kdheks.gov/feedlots. Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042050

State of Kansas

Department of Health and Environment

Request for Bids

Pursuant to the Kansas Childhood Lead Poisoning Prevention Program, sealed bids for lead hazard reduction at the following properties will be received by the Kansas Department of Health and Environment until 2 p.m. on the date indicated. For more information call 316-683-6629:

November 22, 2013 IFB 264-14-38 Project Safe at Home Wichita

Troject Sure	at Home Withita
Property #1	1652 S. Main Wichita, KS 67213
Property #2	451 N. Roosevelt Wichita, KS 67208
Property #3	1102 N. Wabash Wichita, KS 67214
Property #4	2050 N. Fairview Wichita, KS 67203
Property #5	3207 E. Chatfield Pl. Wichita, KS 67208
Property #6	730 S. 167th St. West Goddard, KS 67052
Property #7	2524 N. Payne Wichita, KS 67204
Property #8	2247 N. Jackson Wichita, KS 67203
Property #9	652 S. Brookside Wichita, KS 67218
Property #10	2528 N. Mascot Wichita, KS 67204

Contractors will be required to attend a walk-through of each property in order to be eligible to respond to the Invitation for Bid. For times and actual locations call 316-683-6629 or go to the following website:

http://www.kshealthyhomes.org

The above-referenced bid documents can be downloaded at the website listed above.

Robert Moser, M.D. Secretary of Health and Environment

Doc. No. 042051

(Published in the Kansas Register November 7, 2013.)

Summary Notice of Bond Sale City of Dodge City, Kansas \$6,210,000*

General Obligation Refunding and Improvement Bonds, Series 2013-A

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the Notice of Bond Sale dated October 21, 2013, written and electronic bids will be received on behalf of the director of finance/clerk of the city of Dodge City, Kansas (the issuer), in the case of written bids, at the address set forth below, and in the case of electronic bids, through PARITY, until 1 p.m. (CST) November 18, 2013, for the purchase of the above-referenced bonds. No bid of less than 99 percent of the principal amount of the bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds will be dated December 12, 2013, and will become due on September 1 in the years as follows:

	Principal
Year	Amount*
2014	\$575,000
2015	535,000
2016	325,000
2017	330,000
2018	340,000
2019	350,000
2020	360,000
2021	370,000
2022	385,000
2023	400,000
2024	415,000
2025	430,000
2026	445,000
2027	465,000
2028	485,000

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold as hereinafter provided, which interest will be payable semiannually on March 1 and September 1 in each year, beginning March 1, 2014.

Book-Entry-Only System

The bonds shall be registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Kansas State Treasurer, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States, a qualified financial surety bond or a wire transfer in Federal Reserve funds immediately available for use by the issuer in the amount of \$124,200.

Delivery

The issuer will pay for preparation of the bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about December 12, 2013, to DTC for the account of the successful bidder.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations for the year 2013 is \$163,231,265. The total general obligation indebtedness of the issuer as of the dated date, including the bonds being sold, is \$44,245,000*.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the issuer, printed on the bonds and delivered to the successful bidder when the bonds are delivered.

Additional Information

Additional information regarding the bonds may be obtained from the undersigned or from the financial advisor at the addresses set forth below.

Issuer — Written Bid and Good Faith Deposit Delivery Address:

Nannette Pogue, Director of Finance/Clerk City Hall 806 2nd Ave. P.O. Box 880 Dodge City, KS 67801 620-225-8100 Fax: 620-225-8144 nannette@dodgecity.org

Financial Advisor — Facsimile Bid and Good Faith Deposit Delivery Address:

Stifel, Nicolaus & Company, Inc. 301 N. Main, Suite 1800 Wichita, KS 67202 Attn: Patricia A. Hinojos 316-246-6321

Fax: 316-337-8492 hinojosp@stifel.com

Dated October 21, 2013.

City of Dodge City, Kansas

*Subject to change; see Notice of Bond Sale.

Doc. No. 042042

State of Kansas

Secretary of State

Code Mortgage Rate for November

Pursuant to the provisions of K.S.A. 16a-1-301, Section 11, the code mortgage rate during the period of November 1, 2013, through November 30, 2013, is 12 percent.

The reference rate referred to in the definition of "code mortgage rate" set forth in K.S.A. 16a-1-301(11)(b)(i) is discontinued, has become impractical to use, and/or is otherwise not readily ascertainable from the Federal Home Loan Mortgage Corporation.

Kris W. Kobach Secretary of State

Doc. No. 042038

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 2012 Supp. 12-1675(b)(c)(d) and K.S.A. 2012 Supp. 12-1675a(g).

Effective 11-4-13 through 11-10-13

Term	Rate
1-89 days	0.08%
3 months	0.06%
6 months	0.09%
12 months	0.14%
18 months	0.21%
2 years	0.31%

Scott Miller Director of Investments

Doc. No. 042032

State of Kansas

Wildlife, Parks and Tourism Commission

Notice of Hearing on Proposed Administrative Regulations

A public hearing will be conducted by the Wildlife, Parks and Tourism Commission at 6:30 p.m. Thursday, January 9, at Southwestern College, 100 College St., Winfield, to consider the approval and adoption of proposed regulations of the Kansas Department of Wildlife, Parks and Tourism.

A general discussion and workshop meeting on business of the Wildlife, Parks and Tourism Commission will begin at 1 p.m. January 9 at the location listed above. The meeting will recess at approximately 5 p.m., then resume at 6:30 p.m. at the same location for the regulatory hearing and more business. There will be public comment periods at the beginning of the afternoon and evening meeting for any issues not on the agenda, and additional comment periods will be available during the meeting on agenda items. Old and new business also may be discussed at this time. If necessary to complete business matters, the commission will reconvene at 9 a.m. January 10 at the same location.

(continued)

Any individual with a disability may request accommodation in order to participate in the public meeting and may request the meeting materials in an accessible format. Requests for accommodation to participate in the meeting should be made at least five working days in advance of the meeting by contacting Sheila Kemmis, commission secretary, at 620-672-5911. Persons with a hearing impairment may call the Kansas Commission for the Deaf and Hard of Hearing at 800-432-0698 to request special accommodations.

This 60-day notice period prior to the hearing constitutes a public comment period for the purpose of receiving written public comments on the proposed administrative regulations. All interested parties may submit written comments prior to the hearing to the chairman of the commission, Kansas Department of Wildlife, Parks and Tourism, 1020 S. Kansas Ave., Suite 200, Topeka, 66612, or to sheila.kemmis@ksoutdoors.com if electronically. All interested parties will be given a reasonable opportunity at the hearing to express their views orally in regard to the adoption of the proposed regulations. During the hearing, all written and oral comments submitted by interested parties will be considered by the commission as a basis for approving, amending and approving, or rejecting the proposed regulations.

The regulations that will be heard during the regulatory hearing portion of the meeting are as follows:

K.A.R. 115-2-3. This permanent regulation establishes the camping, utility and other fees. The proposed amendments would increase seasonal and nightly utility fees.

Economic Impact Summary: The fees are expected to generate \$331,240, all of which will accrue to the park fee fund. Otherwise, the proposed amendment is not anticipated to have any appreciable negative economic impact on the department, other agencies, small businesses or the public.

K.A.R. 115-4-15. This permanent regulation establishes the restitution scoring system for deer, elk and antelope that are unlawfully taken. The proposed amendment would adjust the definition of a point.

Economic Impact Summary: The proposed amendment is not anticipated to have any appreciable negative economic impact on the department, other agencies, small businesses or the public.

K.A.R. 115-25-5. This exempt regulation establishes fall turkey season, bag limits and permits. The proposed version of the regulation would reduce the bag limit for units 3, 5 and 6 to adjust for decreased production.

Economic Impact Summary: The proposed amendment is not anticipated to have any appreciable negative economic impact on the department, other agencies, small businesses or the public.

Copies of the complete text of the regulations and their respective economic impact statements may be obtained by writing the chairman of the commission at the address above, electronically on the department's website at www.kdwpt.state.ks.us, or by calling 785-296-2281.

Gerald Lauber Chairman

Doc. No. 042040

State of Kansas

Attorney General

Opinion 2013-11

Re: Counties and County Officers—General Provisions—County Home Rule Powers; Limitations, Restrictions and Prohibitions; Charter Resolutions.

State Departments; Public Officers and Employees—Firearms—Personal and Family Protection Act; July 5, 2013.

Synopsis: A county may not enact a charter resolution to exempt the county from L. 2013, Ch. 105, § 2. Cited herein: K.S.A. 2012 Supp. 19-101a; K.S.A. 19-101c; K.S.A. 2012 Supp. 75-7c01; 75-7c17, as amended by L. 2013, Ch. 105, § 10; 75-6102; L. 2013, Ch. 105, § 2. SF

Opinion 2013-12

Re: State Boards, Commissions and Authorities—Court of Tax Appeals—Membership; Qualifications; Chief Hearing Officer; July 24, 2013.

Synopsis: The chief hearing officer of the Court of Tax Appeals is not subject to the provision in K.S.A. 2012 Supp. 74-2433(a) prohibiting the appointment of more than two judges from the same political party. Cited herein: K.S.A. 2012 Supp. 74-2433; 74-2434. SF

Opinion 2013-13

Re: Cities and Municipalities—Miscellaneous Provisions—Firearms and Ammunition; Regulation by City or County; Limitations; August 1, 2013.

Synopsis: A city ordinance banning the open carry of firearms by all persons except those in possession of a valid state-issued concealed carry license would be pre-empted by state law. Cited herein: K.S.A. 2010 Supp 12-16,124; K.S.A. 2011 Supp. 12-16,124; K.S.A. 2012 Supp. 12-16,124, as amended by L. 2013, Ch. 36, § 1; 21-6301; 21-6304, as amended by L. 2013, Ch. 36, § 2; 21-6309; 75-7c04, as amended by L. 2013, Ch. 36, § 5; 75-7c10, as amended by L. 2013, Ch. 105, § 9. SF

Opinion 2013-14

Re: State Departments; Public Officers and Employees—Firearms—Personal and Family Protection Act; October 23, 2013.

Synopsis: For the purposes of the Personal and Family Protection Act (PFPA), a "state or municipal building" does not include a single floor within a county courthouse. A county may restrict the carrying of firearms into a county courthouse only by providing adequate security measures at the public entrances to the courthouse and by posting the courthouse as prohibiting the concealed carry of handguns in accordance with the PFPA and regulations promulgated by the Attorney General. The chief judge of a judicial district may prohibit the carrying of concealed handguns into courtrooms or ancillary courtrooms within the district provided that other means of security are employed.

"Adequate security measures" and "adequate security" are not synonymous for the purposes of K.S.A. 2013

Supp. 75-7c20. Cited herein: K.S.A. 2013 Supp. 75-7c01; 75-7c10; 75-7c20; K.A.R. 16-11-7. SF

Opinion 2013-15

Re: Counties and County Officers—County Attorney—Duties; Qualifications; Holding Other Office; October 23, 2013.

Synopsis: An attorney is not prohibited by K.S.A. 19-705 from serving simultaneously as a county attorney for more than one county. Any prohibition requires an amendment to the statutory qualifications of a county attorney. Cited herein: K.S.A. 2013 Supp. 19-101a; 19-701; 19-702; 19-704; 19-705. JLA

Opinion 2013-16

Re: Constitution of the United States—Article I—Legislative Powers—Powers of Congress; Jurisdiction on Federal Military Installations.

Federal Jurisdiction—Federal Property—Consent Given to United States to Acquire Land; Limitations; Jurisdiction; Fort Leavenworth Reservation; Fort Riley Military Reservation; Jurisdiction on Federal Military Installations.

Pet Animal Act—Penalties for Violations of Act; Inspections and Investigations; Violations of Act or Rules and Regulations; Purpose of Act; Jurisdiction on Federal Military Installations; October 24, 2013.

Synopsis: Kansas ceded its jurisdiction over the federal military installations in Kansas prior to the enactment of the Kansas Pet Animal Act. Consequently, Kansas cannot enforce that Act on the federal military installations in Kansas. Cited herein: K.S.A. 27-101; 27-102; 27-104; 27-105; K.S.A. 2013 Supp. 47-1707; 47-1709; 47-1715; 47-1726; U.S. Const., Art. 1, § 8. JLA

Opinion 2013-17

Re: Cities and Municipalities—Miscellaneous Provisions—Firearms and Ammunition; Regulation by City or County, Limitations; October 25, 2013.

Synopsis: A city or county may not require persons licensed to carry concealed handguns to completely encase long guns in a container when transporting such long guns by vehicle. Cited herein: K.S.A. 2013 Supp. 12-16,124; 75-7c01. SF

Derek Schmidt Attorney General

Doc. No. 042031

State of Kansas

Department of Revenue

Permanent Administrative Regulations

Article 51.—TITLES AND REGISTRATION

92-51-21. Staggered registration system. (a) All motorized bicycles, motor vehicles, and recreational vehicles, other than apportioned registered vehicles, mobile homes, trailers, antique vehicles, trucks or truck tractors registered for a gross weight of greater than 12,000 pounds, and commercial motor vehicles as described in

K.S.A. 8-143m and amendments thereto, shall be registered annually under a staggered registration system during one of 11 registration periods. The month of expiration of the registration shall be embossed upon the number plate issued at the time of registration or shall be represented by a decal attached to the number plate in a location designated by the director.

(b) At the time of registration, the owner shall pay a prorated registration fee equal to 1/12 of the annual registration fee multiplied by the number of months remaining in the registration period, including the month of expiration. Each registration period shall expire on the last day of the month as prescribed for the alpha letter designation on the plate or decal affixed to the plate, as determined by the first letter of the owner's surname in accordance with the following table:

ALPHABETICAL DESIGNATION FOR MONTHLY STAGGERED REGISTRATION

	First Letter
Month	of Surname
February	A
March	В
April	C, D
May	E, F, G
June	Н, І
July	J, K, L
August	M, N, O
September	P, Q, R
October	S
November	T, V, W
December	U, X, Y, Z
	February March April May June July August September October November

(Authorized by and implementing K.S.A. 2013 Supp. 8-134, K.S.A. 8-134a; effective, E-82-26, Dec. 16, 1981; effective May 1, 1982; amended Jan. 3, 2003; amended Nov. 22, 2013.)

Nick Jordan Secretary of Revenue

Doc. No. 042044

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-3286. "Ghostbusters" instant ticket lottery game number 453. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Ghostbusters." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3286.

(b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions
1	ONE
2	TWO
3	THR
4	FOR
5	FIV
6	SIX
7	SVN
8	EGT
	(continued)

(continued)

9	NIN
10	TEN
11	ELVN
12	TWLV
13	THRT
14	FORTN
15	FFTN
16	SXTN
17	SVTN
18	EGHTN
19	NINTN
20	TWNTY
No ghosts symbol	DOUBLE
(circle with a slash through it)	
Play/Prize Symbols	Captions

Play/Prize Symbols	Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$30.00	THIRTY
\$50.00	FIFTY
\$100	ONEHUN
\$500	FIVHUN
\$1,000	ONETHO
\$10,000	10-THOU

- (c) For this game, a play/prize symbol shall appear in 22 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) In the "Ghostbusters" game, the player will scratch the play area to reveal two "GHOST NUMBERS" and 10 "YOUR NUMBERS" with a prize amount shown directly to the right of each "YOUR NUMBER." If either of the "GHOST NUMBERS" matches any of the "YOUR NUMBERS," the player wins the prize amount shown for that number. If a "NO GHOST" symbol is revealed, the player wins double the prize amount shown.
 - (g) Each ticket in this game may win up to 10 times.
- (h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
Free \$2 Ticket	Free Ticket	90,000	\$0
\$1 w/NO GHOST	\$2	30,000	60,000
(\$1 x 2)	\$2	30,000	60,000
\$2	\$2	30,000	60,000
\$1 + \$2 w/NO GHOST	\$5	12,000	60,000
(\$1 x 5)	\$5	12,000	60,000
\$5	\$5	6,000	30,000
\$5 w/NO GHOST	\$10	6,000	60,000
(\$1 x 10)	\$10	3,000	30,000
\$10	\$10	3,000	30,000
\$10 w/NO GHOST	\$20	3,000	60,000

(\$2 x 10)	\$20	3,000	60,000
(\$5 x 4)	\$20 \$20	3,000	60,000
. ,		,	,
\$20	\$20	3,000	60,000
\$10 + \$10 w/NO GHOST	\$30	1,125	33,750
\$10 + \$20	\$30	1,125	33,750
\$30	\$30	750	22,500
\$10 + \$20 w/NO GHOST	\$50	750	37,500
(\$5 x 10)	\$50	480	24,000
\$50	\$50	375	18,750
\$50 w/NO GHOST	\$100	75	7,500
$($50 \times 2)$	\$100	45	4,500
\$100	\$100	30	3,000
(\$100 x 3) + \$100 w/NO			
GHOST	\$500	30	15,000
(\$50 x 10)	\$500	15	7,500
\$500	\$500	15	7,500
\$500 w/NO GHOST	\$1,000	15	15,000
(\$500 x 2)	\$1,000	15	15,000
\$1,000	\$1,000	15	15,000
\$10,000	\$10,000	6	60,000
TOTAL		238,866	\$1,010,250
			<u>. , ,</u>

NO GHOSTS - denotes win double prize

- (j) The odds of winning a prize in this game are approximately one in 3.77. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-13, Aug. 14, 2013.)
- **111-4-3287.** "The Walking Dead" instant ticket lottery game number 454. (a) The Kansas lottery may conduct an instant winner lottery game entitled "The Walking Dead." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3287.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions
Symbol of a bell	BELL
Symbol of a bow	BOW
Šymbol of a car	CAR
Symbol of a clover	CLOVER
Symbol of some coins	COINS
Symbol of a crown	CRN
Symbol of a diamond	DMD
Symbol of an emerald	EMRLD
Symbol of a fist full of dollars	FISTFUL
Symbol of a house	HOUSE
Symbol of a necklace	NKLACE
Symbol of a gold nugget	NUGGET
Symbol of a piggy bank	PIGBNK
Symbol of an airplane	PLANE
Symbol of a rainbow	RBOW
Symbol of a ring	RING
Symbol of a safe	SAFE
Symbol of a horseshoe	SHOE
Symbol of a star	STAR
Symbol of a thief	THIEF
Symbol of cross hairs	AUTO
Symbol of an arrow	ARROW
Symbol of a bar of gold	BAR
Symbol of a treasure chest	CHEST
Symbol of a key	KEY
Symbol of a stack of money	MONEY
Symbol of the moon	MOON
Symbol of a pot of gold	POT
Symbol of a wallet	WALLET

WIN\$25
Captions
TICKET
ONE\$
TWO\$
THREE\$
FIVE\$
TEN\$
TWENFIV
THIRTY
FIFTY
ONEHUN
TWHNFTY
ONETHO
10-THOU

- (c) For this game, a play/prize symbol shall appear in 23 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "The Walking Dead" game consists of two play areas. The player will scratch the play area to reveal two "WINNING SYMBOLS" and 10 "YOUR SYMBOLS" with a prize amount shown directly to the right of each "YOUR SYMBOL." If either of the "WINNING SYM-BOLS" matches any of the "YOUR SYMBOLS," the player wins the prize amount shown for that symbol. If an "AUTO" symbol is revealed, the player wins the prize shown automatically.

In the bonus play area, if the player reveals a "ZOM-BIE" symbol, the player wins \$25 automatically.

- (g) Each ticket in this game may win up to 10 times.
- (h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

Evpected

Evpected

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
Free \$2 Ticket	Free Ticket	90,000	\$0
(\$1 x 2)	\$2	48,000	96,000
\$2	\$2	42,000	84,000
(\$1 x 5)	\$5	12,000	60,000
\$1 + (\$2 x 2)	\$5	12,000	60,000
\$5	\$5	6,000	30,000
(\$1 x 10)	\$10	6,000	60,000
(\$2 x 5)	\$10	6,000	60,000
\$10	\$10	6,000	60,000
\$25 w/ZOMBIE	\$25	3,000	75,000
(\$5 x 5)	\$25	1,500	37,500
\$25	\$25	1,500	37,500
\$5 + \$25 w/ZOMBIE	\$30	1,125	33 <i>,</i> 750
(\$3 x 10)	\$30	1,125	33,750
\$30	\$30	1,125	33 <i>,</i> 750
(\$5 x 5) + \$25 w/ZOMBIE	\$50	750	37,500
(\$10 x 5)	\$50	750	37,500
\$50	\$50	375	18 <i>,</i> 750
\$25 + \$50 + \$25 w/ZOMBIE	\$100	75	7,500
(\$50 x 2)	\$100	75	7,500
\$100	\$100	45	4,500

\$25 + (\$100 x 2) + \$25			
w/ZOMBIE	\$250	60	15,000
$($50 \times 5)$	\$250	30	7,500
\$250	\$250	30	7,500
(\$100 x 10)	\$1,000	15	15,000
(\$250 x 4)	\$1,000	15	15,000
\$1,000	\$1,000	15	15,000
\$10,000	\$10,000	6	60,000
TOTAL		239,616	\$1,009,500

ZOMBIE - denotes win \$25 automatically

Play/Prize Symbols

1

2

- (j) The odds of winning a prize in this game are approximately one in 3.76. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-13, Aug. 14, 2013.)
- 111-4-3288. "Money Money Money" instant ticket lottery game number 455. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Money Money Money." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3288.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Captions

ONE

TWO

_	1110
3	THR
4	FOR
5	FIV
6	SIX
7	SVN
8	EGT
9	NIN
10	TEN
11	ELEVN
12	TWELV
13	THRTN
14	FORTN
15	FIFTN
16	SIXTN
17	SVNTN
18	EGHTN
19	NINTN
20	TWNTY
21	TWYON
22	TWYTW
23	THYTR
24	TWYFR
25	TWYFV
26	TWYSX
27	TWYSV
28	TWYET
29	TWYNI
30	THRTY
31	THYON
32	THYTW
33	THYTR
34	THYFR
35	THYFV
36	THYSX
37	THYSV
38	THYET

(continued)

39	THYNI
40	FORTY
41	FRYON
42	FRYTW
43	FRYTH
44	FRYFR
45	FRYFV
46	FRYSX
47	FRYSV
48	FRYET
49	FRYNI
50	FIFTY
Symbol of a gold bar	WIN5X
Symbol of a diamond	WINALL
Dlazy/Driza Czymbala	Captions
Play/Prize Symbols	Captions
FREE	TICKET
•	•
FREE	TICKET
FREE \$1.00	TICKET ONE\$
FREE \$1.00 \$2.00	TICKET ONE\$ TWO\$
FREE \$1.00 \$2.00 \$4.00	TICKET ONE\$ TWO\$ FOUR\$
FREE \$1.00 \$2.00 \$4.00 \$5.00	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$25.00	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY TWENFIV FORTY FIFTY
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$25.00 \$40.00	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY TWENFIV FORTY
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$25.00 \$40.00 \$50.00	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY TWENFIV FORTY FIFTY
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$25.00 \$40.00 \$50.00 \$100	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY TWENFIV FORTY FIFTY ONEHUN
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$25.00 \$40.00 \$50.00 \$100 \$400	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY TWENFIV FORTY FIFTY ONEHUN FORHUN
FREE \$1.00 \$2.00 \$4.00 \$5.00 \$10.00 \$20.00 \$25.00 \$40.00 \$50.00 \$100 \$400 \$500	TICKET ONE\$ TWO\$ FOUR\$ FIVE\$ TEN\$ TWENTY TWENFIV FORTY FIFTY ONEHUN FORHUN FIVHUN

- (c) For this game, a play/prize symbol shall appear in 56 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 029.
- (e) The price of instant tickets sold by a retailer for this game shall be \$10.00 each.
- (f) In "Money Money," the player will scratch the play area to reveal six "WINNING NUMBERS" and 25 "YOUR NUMBERS" with a prize amount shown below each "YOUR NUMBER." If any of the "WINNING NUMBERS" match any of the "YOUR NUMBERS," the player wins the prize amount shown for that number. If a "GOLD BAR" symbol is revealed, the player wins five times the prize shown. If a "DIAMOND" symbol is revealed, the player wins all 25 prizes shown.
 - (g) Each ticket in this game may win up to 25 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
	Prize	Number of Prizes in Game	Value in Game
Free \$10 Ticket	Free Ticket	40,000	\$0
\$2 w/GOLD BAR	\$10	20,000	200,000
(\$5 x 2)	\$10	20,000	200,000
\$10	\$10	10,000	100,000

the score base	400	40.000	200 000
\$4 w/GOLD BAR	\$20	10,000	200,000
(\$10 x 2)	\$20	10,000	200,000
\$20	\$20	10,000	200,000
(\$1 x 25 w/DIAMOND)	\$25	2,500	62,500
\$5 + \$4 w/GOLD BAR	\$25	2,500	62,500
$(\$5 \times 5)$	\$25	2,500	62,500
\$25	\$25	2,500	62,500
(\$2 x 25 w/DIAMOND)	\$50	625	31,250
\$10 w/GOLD BAR	\$50	625	31,250
(\$25 x 25)	\$50	500	25,000
\$50	\$50	375	18,750
(\$4 x 25 w/DIAMOND)	\$100	250	25,000
\$20 w/GOLD BAR	\$100	250	25,000
(\$10 x 10)	\$100	187	18,750
\$100	\$100	187	18,750
(\$20 x 25 w/DIAMOND)	\$500	20	10,000
\$100 w/GOLD BAR	\$500	20	10,000
(\$20 x 25)	\$500	15	7,500
\$500	\$500	10	5,000
(\$40 x 25 w/DIAMOND)	\$1,000	10	10,000
(\$100 w/GOLD BAR x 2)	\$1,000	10	10,000
(\$500 x 2)	\$1,000	5	5,000
\$1,000	\$1,000	5	5,000
(\$400 x 25 w/DIAMOND)	\$10,000	2	20,000
(\$1,000 x 10)	\$10,000	2	20,000
\$10,000	\$10,000	2	20,000
\$75,000	\$75,000	2	150,000
TOTAL		133,102	\$1,816,250
			<u>- , </u>

GOLD BAR - denotes win five times prize shown DIAMOND - denotes win all 25 prizes shown

- (j) The odds of winning a prize in this game are approximately one in 2.25. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-13, Aug. 14, 2013.)
- **111-4-3289.** "Secret Santa" instant ticket lottery game number 558. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Secret Santa." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3289.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

O	
Play/Prize Symbols	Captions
Symbol of a bell	BELL
Symbol of a candle	CANDLE
Symbol of a candy cane	CNDYCAN
Symbol of a gift	GIFT
Symbol of an ornament	ORNAMNT
Symbol of snowman	SNWMAN
Symbol of a sleigh	SLEIGH
Symbol of a star	STAR
Symbol of a tree	TREE
Symbol of a wreath	WREATH
Play/Prize Symbols	Captions
Play/Prize Symbols FREE	Captions TICKET
, ,	-
FREE	TICKET
FREE \$1. ⁰⁰	TICKET ONE\$
FREE \$1. ⁰⁰ \$3. ⁰⁰	TICKET ONE\$ THR\$
FREE \$1.00 \$3.00 \$9.00	TICKET ONE\$ THR\$ NINE\$
FREE \$1.00 \$3.00 \$9.00 \$15.00	TICKET ONE\$ THR\$ NINE\$ FIFTEEN
FREE \$1.00 \$3.00 \$9.00 \$15.00 \$30.00	TICKET ONE\$ THR\$ NINE\$ FIFTEEN THIRTY
FREE \$1.00 \$3.00 \$9.00 \$15.00 \$30.00 \$90.00	TICKET ONE\$ THR\$ NINE\$ FIFTEEN THIRTY NINETY
FREE \$1.00 \$3.00 \$9.00 \$15.00 \$30.00 \$90.00 \$300	TICKET ONE\$ THR\$ NINE\$ FIFTEEN THIRTY NINETY THR-HUN

06

07

SIX

SEV

- (c) For this game, a play/prize symbol shall appear in 11 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (f) "Secret Santa" is a key symbol match game. A player will scratch the play area to reveal one "WINNING SYM-BOL," five "YOUR SYMBOLS," and five prize amounts. If the "WINNING SYMBOL" matches any of the "YOUR SYMBOLS," the player wins the prize amount shown for that symbol.
 - (g) Each ticket in this game may win up to five times.
- (h) Approximately 1,200,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	80,000	\$0
\$1	\$1	88,000	88,000
\$3	\$3	30,000	90,000
(\$1 x 3)	\$3	28,000	84,000
\$9	\$9	7,000	63,000
(\$3 x 3)	\$9	7,000	63,000
\$15	\$15	2,000	30,000
$($3 \times 5)$	\$15	2,400	36,000
$(\$3 \times 2) + \9	\$15	2,000	30,000
\$30	\$30	500	15,000
(\$15 x 2)	\$30	500	15,000
$($9 \times 3) + 3	\$30	500	15,000
\$90	\$90	100	9,000
$($30 \times 3)$	\$90	100	9,000
$(\$15 \times 4) + \30	\$90	100	9,000
\$300	\$300	40	12,000
$($90 \times 3) + 30	\$300	40	12,000
\$900	\$900	20	18,000
(\$300 x 3)	\$900	20	18,000
\$3,000	\$3,000	12	36,000
TOTAL		248,332	\$652,000

- (j) The odds of winning a prize in this game are approximately one in 4.83. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-13, Aug. 14, 2013.)
- 111-4-3290. "So Many Santas" instant ticket lottery game number 559. (a) The Kansas lottery may conduct an instant winner lottery game entitled "So Many Santas." The rules for this game are contained in K.A.R. 111-3-1 et seq. and 111-4-3290.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

Play/Prize Symbols	Captions	Symbol of a gift
01	ONE	Symbol of a candy car
02	TWO	Play/Prize Symbols
03	THR	\$5.00
04	FOR	\$10.00
05	FIV	•

07	SE V
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRN
14	FRTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EGTN
19	NINTN
20	TWNTY
21	TWYONE
22	TWYTWO
23	TWYTHR
24	TWYFOR
25	TWYFIV
26	TWYSIX
27	TWYSEV
28	TWYEGT
29	TWYNIN
30	THRTY
31	THRONE
32	THRTWO
33	THRTHR
34	THRFOR
35	THRFIV
36	THRSIX
37	THRSEV
38	THREGT
39	THRNIN
40	FORTY
41	FRYONE
42	FRYTWO
43	FRYTHR
44	FRYFOR
45	FRYFIV
46	FRYSIX
47	FRYSEV
48	FRYEGT
49	FRYNIN
50	FIFTY
51	FTYONE
52	FTYTWO
53	FTYTHR
54	FTYFOR
55	FTYFIV
56	FTYSIX
57	FTYSEV
58	FTYEGT
59	FTYNIN
60	SIXTY
.1 - C : C	SIXTY

of a candy cane

FTYNIN SIXTY DBL TPL **Captions** FIVE\$ TEN\$ (continued)

\$15.00	FIFTEEN
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$75.00	SVTYFIV
\$100	ONE-HUN
\$500	FIVE-HUN
\$1000	ONETHOU
\$5000	FIVTHOU
\$25000	25-THOU

- (c) For this game, a play/prize symbol shall appear in 65 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 059.
- (e) The price of instant tickets sold by a retailer for this game shall be \$5.00 each.
- (f) "So Many Santas" is a key symbol match game with doubler and tripler features. A player will scratch the play area to reveal five "WINNING NUMBERS," 30 "YOUR NUMBERS," and 30 prize amounts. If any of the "WINNING NUMBERS" match any of the "YOUR NUMBERS," the player wins the prize amount shown below that number. If a "GIFT" symbol is revealed, the player wins double the prize shown. If a "CANDY CANE" symbol is revealed, the player wins triple the prize shown.
 - (g) Each ticket in this game may win up to 30 times.
- (h) Approximately 300,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

		Expected	Expected
		Number of	Value
	Prize	Prizes in Game	in Game
\$5	\$5	36,000	180,000
\$10	\$10	8,000	80,000
\$5 + \$5	\$10	8,000	80,000
\$5 DBL	\$10	10,000	100,000
\$15	\$15	6,000	90,000
\$5 TPL	\$15	6,000	90,000
(\$5 x 3)	\$15	6,000	90,000
\$25	\$25	580	14,500
\$10 + \$15	\$25	600	15,000
\$5 + \$10 DBL	\$25	660	16,500
$(\$5 \times 5)$	\$25	600	15,000
\$50	\$50	200	10,000
(\$5 x 10)	\$50	150	7,500
(\$10 x 2) + \$15 DBL	\$50	150	7,500
(\$25 x 2)	\$50	150	7,500
\$15 TPL + \$5	\$50	200	10,000
\$75	\$75	100	7,500
(\$5 x 15)	\$75	100	7,500
\$15 + \$10 TPL + \$15 DBL	\$75	100	7,500
(\$5 x 10) + \$10 + \$15	\$75	100	7,500
\$100	\$100	35	3,500
(\$5 x 20)	\$100	35	3,500
(\$5 x 11) + \$10 TPL + \$15	\$100	35	3,500
\$50 DBL	\$100	35	3,500
\$500	\$500	7	3,500
(\$10 x15) + (\$25 x 9) +			
(\$15 x 5) + \$25 DBL	\$500	7	3,500
$(\$15 \times 20) + (\$25 \times 4) +$			
$($50 \times 2)$	\$500	7	3,500
\$1,000	\$1,000	3	3,000
$(\$25 \times 21) + (\$50 \times 8) + \$75$	\$1,000	3	3,000

+ \$500 \$1,000 3 3,00	
(#100 0) #E0 DDI #1000 2 2 00	00
(\$100 x 9) + \$50 DBL \$1,000 3 3,00	00
\$5,000 \$5,000 2 10,00	00
$(\$500 \times 6) + (\$1,000 \times 2)$ \$5,000 2 10,00	00
\$25,000 \$25,000 <u>3</u> <u>75,00</u>	00
TOTAL 83,870 \$975,00	00

DBL - denotes doubler TPL - denotes tripler

- (j) The odds of winning a prize in this game are approximately one in 3.58. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-13, Aug. 14, 2013.)
- **111-4-3291.** "Holiday Sweater" instant ticket lottery game number 560. (a) The Kansas lottery may conduct an instant winner lottery game entitled "Holiday Sweater." The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-3291.
- (b) The "play and prize symbols" and "captions" for this game are as follows:

U	
Play/Prize Symbols	Captions
Symbol of a bell	BELL
Symbol of a candy cane	CANE
Symbol of a star	STAR
Symbol of a coin	COIN
Symbol of a cloud	CLOUD
Symbol of a gift	GIFT
Symbol of a stocking	STCKNG
Symbol of a wreath	WREATH
Symbol of a tree	TREE
Symbol of a Santa	SANTA
Symbol of an ornament	ORNMNT
Symbol of a stack of money	STKMNY
Symbol of a pot of gold	POTGLD
Symbol of a holly leaf	HOLLY
Symbol of a scarf	SCARF
Symbol of a gingerbread man	GNGMAN
MAYBE NEXT TIME	
GOOD LUCK	

Play/Prize Symbols	Captions
FREE	TICKET
\$2.00	TWO\$
\$4. ⁰⁰	FOUR\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$25.00	TWEN-FIV
\$50.00	FIFTY
\$150	ONHNFTY
\$1000	ONETHOU
\$10000	10-THOU

- (c) For this game, a play/prize symbol shall appear in 21 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (f) "Holiday Sweater" is a key symbol match game with a bonus win play area. A player will scratch the play area to reveal two "WINNING SYMBOLS," and nine

"YOUR SYMBOLS" with a prize amount below each of the "YOUR SYMBOLS." If either of the "WINNING SYMBOLS" matches any of the "YOUR SYMBOLS," the player wins the prize amount shown below that symbol. A player can win up to nine times in this play area.

In the bonus instant win play area, if the player reveals any prize amount, the player wins that amount. A player can win up to one time in this play area.

- (g) Each ticket in this game may win up to 10 times.
- (h) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (i) The expected number and value of instant prizes in this game shall be as follows:

	Bonus	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free		Free Ticket	120,000	\$0
\$2		\$2	24,000	48,000
ΨΔ	\$2	\$2 \$2	12,000	24,000
\$4	7-	\$4	7,500	30,000
•	\$4	\$4	6,000	24,000
(\$2 x 2)		\$4	9,000	36,000
\$ 5		\$5	15,000	75,000
\$10		\$10	7,500	75,000
\$5	\$5	\$10	7,950	79,500
(\$5 x 2)		\$10	7,800	78,000
\$25		\$25	2,700	67,500
(\$5 x 5)		\$25	2,700	67,500
(\$10 x 2)	\$5	\$25	2,700	67,500
\$50		\$50	720	36,000
\$25 + (\$10 x 2) + \$5	5	\$50	750	37,500
$(\$5 \times 4) + (\$4 \times 5)$	\$10	\$50	750	37,500
$(\$4 \times 5) + (\$10 \times 3)$		\$50	750	37,500
\$150		\$150	90	13,500
$($25 \times 4) + ($5 \times 5)$	\$25	\$150	90	13,500
\$1,000		\$1,000	15	15,000
$(\$150 \times 6) +$				
$($25 \times 2) + 50		\$1,000	15	15,000
\$10,000		\$10,000	9	90,000
TOTAL			228,039	\$967,500

(j) The odds of winning a prize in this game are approximately one in 3.95. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710, and K.S.A. 74-8720; effective, T-111-10-11-13, Aug. 14, 2013.)

Article 5.—MULTI-STATE ONLINE GAMES AND DRAWINGS

- **111-5-181. Definitions.** The following definitions shall apply to the Kansas lottery's "Mega Millions" game unless the context requires a different meaning or is otherwise inconsistent with the intention of other rules adopted by the Kansas lottery.
- (a) "Agent" or "retailer" means a person or entity authorized by the Kansas lottery to sell Kansas lottery tickets.
- (b) "Drawing" means the formal process of selecting winning numbers which determine the number of winners for each prize level of the game.
- (c) "Computer pick" means the random selection of two-digit numbers by the computer system, which appear on a ticket and are played by a player in the game.

- (d) "Finance and Audit Committee" shall mean the committee established by the Multi-State Lottery Association Agreement (MUSL).
- (e) "Game board" or "boards" means that area of the play slip, also known as a "panel," which contains two sets of numbered squares to be marked by the player, the first set containing seventy-five (75) squares, number one (1) through seventy-five (75) and the second set containing fifteen (15) squares, number one (1) through fifteen (15).
- (f) "Game ticket" or "ticket" means an acceptable evidence of play, which is a ticket produced by a terminal which meets the specifications defined in these rules.
- (g) "Jackpot" or "Grand Prize" means the top prize of the Mega Millions game. The annuity grand prize is an amount that would be paid in thirty (30) annual installments with annual installments increasing on a graduated basis.
- (h) "Mega Millions Finance Committee" means a committee of the Mega Millions lotteries which determines the grand prize jackpot amount (cash and annuity).
- (i) "Mega Millions Lottery or Lotteries" means those lotteries which have joined under the Mega Millions lottery agreement; the group of lotteries that has reached a cross-selling agreement with the MUSL product group for the selling of the Mega Millions game.
- (j) "MUSL" means the Multi-State Lottery Association, a government-benefit association wholly owned and operated by the party lotteries.
- (k) "MUSL Board" means the governing body of the MUSL which is comprised of the chief executive officer of each party lottery.
- (l) "On-Line Lottery Game" means a lottery game wherein a player selects numbers out of a larger predetermined set or sets of numbers.
- (k) "Participating Lottery" or "Selling Lottery" means a state lottery which is participating in selling the Mega Millions game.
- (l) "Party lottery" means a state lottery which has joined the MUSL and, in the context of the product group rules, which has joined in selling the games offered by the MUSL Mega Millions product group.
- (m) "Play" or "bet" means the six (6) numbers, the first five (5) from a field of seventy-five (75) numbers and the last one (1) from a field of fifteen (15) numbers, that appear on a ticket as a single-lettered selection and are to be played by a player in the game.
- (n) "Product Group" means the group of lotteries which has joined together to offer the Mega Millions lottery game product pursuant to the terms of its cross-selling agreement with the Mega Millions lotteries, the Multi-State Lottery Agreement, and the group's own rules
- (o) "Play slip" or "bet slip" means a card used in marking a player's game plays and containing one or more boards.
- (p) "Set Prize" means all other prizes except the grand prize that are advertised to be paid by a single cash payment and, except in instances outlined in these rules, will be equal to the prize amount established by the MUSL board for the prize level.

(continued)

- (q) "Terminal" means a device authorized by the Kansas lottery to function in an on-line interactive mode with the lottery's computer system for the purpose of issuing lottery tickets and entering, receiving, and processing lottery transactions, including purchases, validating tickets, and transmitting reports.
- (r) "Ticketless transaction" shall include plays sold through non-standard terminals.
- (s) "Winning numbers" means the six (6) numbers, the first five (5) from a field of seventy-five (75) numbers and the last one (1) from a field of fifteen (15) numbers, randomly selected at each drawing, which shall be used to determine winning plays contained on a game ticket.
- (t) These amendments shall take effect October 22, 2013. (Authorized by and implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-1-29-10, Jan. 20, 2010; amended, T-111-9-1-10, Aug. 18, 2010; amended, T-111-10-11-13, Aug. 14, 2013.)
- **111-5-182.** Game description; retail sale of tickets. (a) "Mega Millions" is a five (5) out of seventy-five (75) plus one (1) out of fifteen (15) on-line lottery game, drawn on the day(s), time(s), and location(s) as determined by the Mega Millions lotteries, and which pays the grand prize, at the election of the player, made in accordance with these rules or by a default election made in accordance with these rules, either on an annual pari-mutuel basis or as a cash value option using a rate determined by the Mega Millions finance committee on a pari-mutuel basis. Except as provided in these rules, all other prizes are paid on a set cash basis.
- (b) To play Mega Millions, a player shall select five (5) different numbers, from one (1) through seventy-five (75) and one (1) additional number from one (1) through fifteen (15), for input into a terminal. The additional number may be the same as one of the first five numbers selected by the player.
- (c) A "Mega Millions" game ticket shall sell for one dollar.
- (d) Tickets shall not be sold to any person under the age of 18 years. Each retailer may require a person purchasing tickets to produce proof of age.
- (e) Each ticket shall be purchased from a terminal operated by a retailer. The player may select a set of five numbers and one additional number by:
 - (1) communicating the six numbers to the retailer;
- (2) marking six numbered squares in any one game board on a play slip and submitting the play slip to the retailer; or
- (3) requesting a "computer pick" or "quick pick" from the retailer.
- (f) A validated ticket shall be the only proof of a game play or plays. The only method of claiming a prize or prizes shall be the submission of the winning ticket to and receipt of the ticket by the lottery or its authorized agent. A play slip shall have no pecuniary nor prize value and shall not be used as evidence of a ticket purchase or of numbers selected. A terminal produced paper receipt has no pecuniary nor prize value and shall not constitute evidence of ticket purchase or of numbers selected.
- (g) A ticket shall not be voided or cancelled by returning the ticket to the selling retailer, including tickets that

- are printed in error. No ticket which can be used to claim a prize shall be returned to the Kansas lottery for credit. Tickets accepted by retailers as returned tickets and which cannot be re-sold shall be deemed owned by the bearor thereof.
- (h) Ticket sales will end at approximately 8:59 p.m. central time on Tuesdays and Fridays and will resume at approximately 9:05 p.m. on those same days.
- (i) Drawings will be conducted twice weekly, on Tuesdays and Fridays at approximately 10:00 p.m. central time (CT), after the game is closed at approximately 8:59 p.m. central time (CT) and the external auditor has verified that the game is closed, under conditions and procedures promulgated by the executive director of the lottery.
- (j) It shall be the sole responsibility of each player to verify the accuracy of the game play or plays and other data printed on the ticket. The placing of plays is done at the player's own risk through the lottery retailer who is deemed to be acting on behalf of the player in entering the play or plays. (Authorized by K.S.A. 2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710 and 74-8718; effective, T-111-1-29-10, Jan. 20, 2010; amended, T-111-10-11-13, Aug. 14, 2013.)
- 111-5-183. Prize pool; reserve account. (a) The prize pool for all prize categories shall consist of up to 55.0% of each drawing period's sales, including any specific statutorily-mandated tax to be included in the price of a lottery ticket, after the prize reserve accounts are funded to the amounts set by the product group, but may be higher or lower based upon the number of winners at each prize level, as well as the funding required to meet a guaranteed annuity grand prize. Any amount remaining in the prize pool or reserves at the end of this game shall be carried forward to a replacement game or expended in a manner as directed by the product group.
- (b) An amount up to one percent (5%) of the Kansas lottery's Mega Million sales shall be added to the Kansas lottery's grand prize pool contribution and placed in trust in one or more prize pool accounts and prize reserve accounts held by the product group at any time that the prize pool accounts and Kansas lottery's share of the prize reserve account(s) is below the amounts designated by the product group. The product group, with approval of the finance and audit committee, may establish a maximum balance for the prize reserve account(s). The product group may determine to expend all or a portion of the funds in the prize pool accounts (except the grand prize pool account) and the prize reserve accounts for the purpose of indemnifying the Kansas lottery in the payment of prizes, subject to the approval of the board, and for the payment of prizes or special prizes in the game, subject to the approval of the finance and audit committee. The prize reserve shares of the Kansas lottery may be adjusted with refunds to the Kansas lottery from the prize reserve account as may be needed to maintain the approved maximum balance and shares of the party lotteries. Any amount remaining in the prize pool accounts or prize reserve account at the end of this game shall be carried forward to a replacement game or expended in a manner as directed by the members of the product group in accordance with Kansas law. (Authorized by K.S.A.

Duine Deel

2012 Supp. 74-8710; implementing K.S.A. 2012 Supp. 74-8710 and K.S.A. 74-8731; effective, T-111-1-29-10, Jan. 20, 2010; amended, T-111-10-11-13, Aug. 14, 2013.)

111-5-184. Expected prize payout pari-mutuel **prizes.** (a) The grand prize shall be determined on a parimutuel basis. Except as provided in these rules, all other prizes awarded shall be paid as set cash prizes with the following expected approximate prize payout percentages, which does not include an additional amount held in prize reserves:

		Prize Pool Percentage Allocated
Number of Matches Per Play	Prize Payment	to Prize
All five (5) of first set plus one (1) of second set	Grand Prize	65.154%
All five (5) of first set and none of second set	\$1,000,000	10.815%
Any four (4) of first set plus one (1) of second set	\$5,000	1.352%
Any four (4) of first set and none of second set	\$500	1.893%
Any three (3) of first set plus one (1) of second set	\$50	0.933%
Any two (2) of the first set plus one (1) of second set	\$5	2.114%
Any three (3) of first set and none of second set	\$5	1.306%
Any one (1) of first set plus one (1) of second set	\$2	7.083%
None of first set plus one (1) of second set	\$1	9.350%

- (b) The prize money allocated to the grand prize category shall be divided equally by the number of plays winning the grand prize.
- (c) The prize pool percentage allocated to the set prizes (the cash prizes of \$1,000,000 or less) shall be carried forward to subsequent draws if all or a portion of it is not needed to pay the set prizes awarded in the current draw.
- (d) Except as required by K.A.R. 111-5-186(a), the official advertised grand prize annuity amount is subject to change based on sales forecasts and/or actual sales. Parimutuel prizes shall be determined as follows except as provided in subsection (d)(3):
- (1) If the total of the set prizes awarded in a drawing exceeds the percentage of the prize pool allocated to the set prizes, then the amount needed to fund the set prizes, including Megaplier prizes, awarded shall be drawn from the following sources in the following order:
- (A) the amount allocated to the set prizes and carried forward from previous draws, if any;
- (B) an amount from the prize reserve account, if available, not to exceed forty million dollars (\$40,000,000) per drawing.
- (2) If, after these sources are depleted, there are not sufficient funds to pay the set prizes awarded, including Megaplier prizes, then the highest set prize shall become a pari-mutuel prize. If the amount of the highest set prize, when paid on a pari-mutuel basis, drops to or below the next highest set prize and there are still not sufficient funds to pay the remaining set prizes awarded, then the next highest set prize shall become a pari-mutuel prize.

This procedure shall continue down through all set prize levels, if necessary, until all set prize levels become parimutuel prize levels.

- (3) By agreement with the Mega Millions lotteries, the Mega Millions lotteries shall independently calculate their set pari-mutuel prize amounts. The party lotteries and the Mega Millions lotteries shall then agree to set the pari-mutuel prize amount for all lotteries selling the game at the lesser of the independently-calculated prize amounts.
- (e) Subject to the laws and rules governing each participating lottery, the number of prize categories and the allocation of the prize fund among the prize categories may be changed at the discretion of the Mega Millions lotteries, for promotional purposes. Such change shall be announced by Mega Millions lotteries.
- (f) These amendments shall take effect October 22, 2013. (Authorized by and implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-1-29-10, Jan. 20, 2010; amended, T-111-9-1-10, Aug. 18, 2010; amended, T-111-10-11-13, Aug. 14, 2013.)

111-5-185. Probability of winning. (a) The following table sets forth the approximate probability of winning and the probable distribution of winners in and among each prize category based upon the total number of possible combinations in Mega Millions.

Number of Matches Per Ticket	Probability Distribution Winners Probability		Probable/Set Prize Amount	
All five (5) of first set plus one (1) of second set All five (5) of first set	1	1:	258,890,850	Grand Prize
and none of second set Any four (4) of first set plus	14	1:	18,492,203.57	\$1,000,000
one (1) of second set Any four (4) of first set	350	1:	739,688	\$5,000
and none of second set Any three of first set plus	4,900	1:	52,834.87	\$500
one (1) of second set Any three (3) of first set	24,150	1:	10,720.12	50
and none of second set Any two (2) of first set plus	338,100	1:	765.75	\$5
one (1) of second set Any one (1) of first set plus	547,400	1:	472.95	\$5
one (1) of first set plus one (1) of second set None of first set plus	4,584,475	1:	56.47	\$2
one (1) of second set Overall	12,103,014 17,602,404	1: 1:	21.39 14.71	\$1

(b) These amendments shall take effect October 22, 2013. (Authorized by and implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-1-29-10, Jan. 20, 2010; amended, T-111-10-11-13, Aug. 14, 2013.)

111-5-186. Prize payments; annuitized and cash **prizes.** (a) The prize money allocated from the current Mega Millions prize pool for the grand prize, plus any previous portions of prize money allocated to the grand prize category in which no matching tickets were sold, will be divided equally among all jackpot prize-winning plays in all participating lotteries. The annuity grand prize amount will be paid in thirty (30) graduated annual installments. Grand prizes won shall be funded by the selling lotteries in accordance with the formula set by the Mega Millions lotteries. The Mega Millions lotteries may set a minimum guaranteed annuity grand prize amount that shall be advertised by the selling lotteries as the starting guaranteed annuity grand prize amount. The Mega

Millions lotteries may set a minimum guaranteed annuity grand prize amount, which shall be advertised by the Kansas lottery as the starting guaranteed annuity grand prize amount.

- (b) If in any Mega Millions drawing there are no Mega Millions plays which qualify for the grand prize category, the portion of the prize fund allocated to such grand prize category shall remain in the jackpot prize category and be added to the amount allocated for the grand prize category in the next consecutive Mega Millions drawing.
- (c) Grand prizes shall be paid, at the election of the player made no later than 60 days after the player becomes entitled to a prize, with either a per winner annuity or cash payment. If the payment election is not made by the player within 60 days after the player becomes entitled to the prize, then the prize shall be paid as an annuity prize. The election to take the cash payment may be made within 60 days after the player becomes entitled to the prize. An election made after the winner becomes entitled to the prize is final and cannot be revoked, withdrawn, or otherwise changed.
- (d) In the event of a prize winner who selects the cash value option, the prize winner's share will be paid in a single payment upon completion of internal validation procedures. The cash option amount shall be determined by the product group.
- (e) Annual payment option jackpot prizes shall be paid in thirty (30) annual installments upon completion of internal validation procedures. The initial payment shall be paid upon completion of internal validation procedures. The subsequent twenty-nine (29) payments shall be paid and graduated annually to coincide with the month of the Federal auction date at which the bonds were purchased to fund the annuity, with graduated annual installments defined in the Mega Millions lotteries' finance and operations procedures. Payments shall escalate by a factor of five percent (5%) annually, and annual payments shall be rounded down to the nearest rounded one thousand dollar (\$1,000) increment. All such payments shall be made within seven days of the anniversary of the annual auction date.
- (f) If individual shares of the cash held to fund an annuity are less than \$250,000, the product group, in its sole discretion, may elect to pay the winners their share of the cash held in the grand prize pool.
- (g) Funds for the initial payment of an annuitized prize or the lump sum cash prize shall be made available by MUSL for payment by the party lottery on a schedule approved by the product group. If necessary, when the due date for the payment of a prize occurs before the receipt of funds in the prize pool trust is sufficient to pay the prize, the transfer of funds for the payment of the full lump sum cash amount may be delayed pending receipt of funds from the party lotteries or other lotteries participating in the Mega Millions game.
- (h) In the event of the death of a lottery winner sold during the annuity payment period, the MUSL finance and audit committee, in its sole discretion excepting a discretionary review by the product group, upon the petition of the estate of the lottery winner (the "estate") to the Kansas lottery, and subject to federal, state, district, or territorial applicable laws, may accelerate the payment

- of all of the remaining lottery proceeds to the estate. If such a determination is made, then securities and/or cash held to fund the deceased lottery winner's annuitized prize may be distributed to the estate. The identification of the securities to fund the annuitized prize shall be at the sole discretion of the finance and audit committee or the product group.
- (i) All low-tier cash prizes (all prizes except the grand prize) shall be paid in cash or the equivalent. The Kansas lottery may begin paying low-tier cash prizes after receiving authorization to pay from the MUSL central office.
- (j) Annuitized payments of the grand prize or a share of the grand prize may be rounded to facilitate the purchase of an appropriate funding mechanism. Breakage on an annuitized grand prize win shall be added to the first cash payment to the winner or winners. Prizes other than the grand prize, which, under these rules, may become single-payment, pari-mutuel prizes, may be rounded down so that prizes can be paid in multiples of whole dollars. Breakage resulting from rounding these prizes shall be carried forward to the prize pool for the next drawing.
- (k) If the grand prize is not won in a drawing, the prize money allocated for the grand prize shall roll over and be added to the grand prize pool for the following drawing.
- (l) The holder of a winning ticket may win only one prize per play in connection with the winning numbers drawn, and shall be entitled only to the prize won by those numbers in the highest matching prize category.
- (m) Prize claims must be claimed within 365 days of the day of the drawing in which the prize was won.
- (n) These amendments shall take effect October 22, 2013. (Authorized by and implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-1-29-10, Jan. 20, 2010; amended, T-111-9-1-10, Aug. 18, 2010; amended, T-111-10-11-13, Aug. 14, 2013.)

111-5-194. Mega Millions Megaplier promotion. (a) The Mega Millions Megaplier promotion is a limited

- (a) The Mega Millions Megaplier promotion is a limited extension of the Mega Millions game and is conducted in accordance with the Mega Millions game rules and other lottery rules applicable to the Mega Millions game except as may be amended herein. The promotion will begin on January 31, 2010, which is the day Mega Millions tickets are first offered for sale by the Kansas lottery. The promotion will continue until it is discontinued by the Kansas lottery. The promotion will offer to the owners of a qualifying play a chance to multiply the amount of any of the lump sum set prizes (the lump sum prizes normally paying \$1 to \$1,000,000) won in a drawing held during the promotion. The grand prize is not a set prize and will not be multiplied.
- (b) A qualifying play is any single Mega Millions play for which the player pays an extra dollar for the megaplier option play and which is recorded at the Kansas Lottery's central computer as a qualifying play.
- (c) A qualifying play which wins a lump sum set prize will be multiplied by the number selected, either two, three, four, or five (2, 3, 4, or 5), in a separate random megaplier drawing announced in a manner approved by the product group.

- (d) MUSL will either itself conduct, or authorize a United States lottery to conduct on its behalf, a separate random megaplier drawing. Before each Mega Millions drawing, a single number (2, 3, 4, or 5) shall be drawn. The Mega Millions group may change one or more of these multiplier numbers for special promotions from time to time. In the event the multiplier drawing does not occur prior to the Mega Millions drawing, the multiplier number will be a five (5), which shall solely be determined by the lottery authorized to conduct the "Megaplier" drawing.
- (e) The prize pool for all prize categories offered by the party lotteries shall consist of up to fifty-five percent (55%) of each drawing period's sales, including any specific statutorily-mandated tax of a party lottery to be included in the price of a lottery ticket, after the Mega Millions prize reserve accounts are funded to the amounts set by the product group.
- (f) Any amount not used to pay for multiplied prizes may be collected and placed in the Megaplier prize pool until the prize pool account reaches the amounts designated by the product group. Any amount remaining in the Megaplier prize pool account at the end of this game shall be carried forward to a replacement game or expended in a manner as directed by the members of the product group in accordance with Kansas law.
- (g) Except as provided in these rules, all prizes awarded shall be paid as lump sum set prizes. Instead of the Mega Millions set prize amounts, qualifying megaplier plays will pay the amounts shown below when matched with the megaplier number drawn:

Prize Levels with Megaplier Purchase and Megaplier

	0 1		,		
	Standard	2X	3X	4X	5X
Match 5+0	\$1,000,000	\$2,000,000	\$3,000,000	\$4,000,000	\$5,000,000
Match 4+1	\$5,000	\$10,000	\$15,000	\$20,000	\$25,000
Match 4+0	\$500	\$1,000	\$1,500	\$2,000	\$2,500
Match 3+1	\$50	\$100	\$150	\$200	\$250
Match 3+0	\$5	\$10	\$15	\$20	\$25
Match 2+1	\$5	\$10	\$15	\$20	\$25
Match 1+1	\$2	\$4	\$6	\$8	\$10
Match 0+1	\$1	\$2	\$3	\$4	\$5

Note: Megaplier does not apply to the Mega Millions grand prize.

In certain rare instances, the Mega Millions set prize amount may be less than the amount shown. In such case, the megaplier prizes will be a multiple of the changed Mega Millions prize amount announced after the draw. For example, if the match 4+1 Mega Millions set prize amount of \$5,000 becomes \$2,000 under the rules of the Mega Millions game, then a megaplier player winning that prize amount with a 4X multiplier would win \$8,000 (\$2,000 x 4).

(h) The following table sets forth the probability of the various megaplier numbers being drawn during a single Mega Millions drawing. The group may elect to run limited promotions that may modify the multiplier features.

	Megaplier	Probability of Prize Increase
	5X - Prize won times 5	6 in 15
	4X - Prize won times 4	3 in 15
	3X - Prize won times 3	4 in 15
	2X - Prize won times 2	2 in 15
т	. 3.6 1: 1	

Note: Megaplier does not apply to the Mega Millions grand prize.

- (i) The prize pool percentage allocated to the megaplier set prizes shall be carried forward to subsequent draws if all or a portion of it is not needed to pay the set prizes awarded in the current draw or may be held in a prize reserve account.
- (j) Pari-mutuel prizes for all prize amounts shall be paid, except as otherwise provided for in subsection (j)(3), as follows:
- (1) If the total of the original Mega Millions set prizes and the Megaplier prize amounts awarded in a drawing exceeds the percentage of the prize pools allocated to the set prizes, then the amount needed to fund the set prizes (including the Megaplier prize amounts) awarded shall be drawn from the following sources, in the following order:
- (A) the amount allocated to the set prizes (including Megaplier prize amounts) and carried forward from previous draws, if any;
- (B) an amount from the Mega Millions prize reserve account, if available in the account, not to exceed forty million dollars (\$40,000,000) per drawing.
- (2) If, after these sources are depleted, there are not sufficient funds to pay the set prizes awarded (including Megaplier prize amounts), then the highest set prize (including the Megaplier prize amounts) shall become a pari-mutuel prize. If the amount of the highest set prize, when paid on a pari-mutuel basis, drops to or below the next highest set prize and there are still not sufficient funds to pay the remaining set prizes awarded, then the next highest set prize, including the Megaplier prize amount, shall become a pari-mutuel prize. This procedure shall continue down through all set prize levels, if necessary, until all set prize levels become pari-mutuel prize levels. In that instance, the money available from the funding sources listed in this rule shall be divided among the winning plays in proportion to their respective prize percentages. Mega Millions and Megaplier prizes will be reduced by the same percentage.
- (3) By agreement with the Mega Millions lotteries, the Mega Millions lotteries shall independently calculate their set pari-mutuel prize amounts, including the Megaplier prize amounts. The party lotteries and the Mega Millions lotteries shall then agree to set the pari-mutuel prize amounts for all lotteries selling the game at the lesser of the independently-calculated prize amounts.
- (k) These amendments shall take effect with the drawing conducted on October 22, 2013. (Authorized by and implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-1-29-10, Jan. 20, 2010; T-111-9-1-10, Aug. 18, 2010; amended, 111-2-9-12, Dec. 14, 2011; amended, T-111-10-11-13, Aug. 14, 2013.)

Article 17.—SPECIFIC ONLINE DRAWING RULES

111-17-10. The Walking Dead second-chance drawings. (a) The Kansas lottery may conduct a series of three second-chance online drawings entitled "The Walking Dead Drawings." The Kansas lottery will accept entries into the first drawing through the Kansas Lottery website (website) starting at midnight, September 25, 2013, and ending at noon on December 10, 2013. Draw-(continued)

ings will be announced with at least 24 hours advanced notice via the lottery's website, and other social media forums such as Facebook and Twitter. The first drawing will be conducted sometime after entry into the drawing has closed, but before noon on December 13, 2013. The Kansas lottery will accept entries into the second drawing through the website starting at midnight, September 25, 2013, and ending at noon on January 7, 2014. The second drawing will be conducted sometime after entry into the drawing has closed, but before noon on January 10, 2014. The Kansas lottery will accept entries into the third drawing through the website starting at midnight, September 25, 2013, and ending at noon on February 11, 2014. The third drawing will be conducted sometime after entry into the drawing has closed, but before noon on February 14, 2014.

- (b) The specific non-winning ticket eligible for entry into this second-chance online event drawings shall be the \$2, "The Walking Dead," game number 454.
- (c) The Kansas lottery shall award five grand prizes and five secondary prizes in each second-chance drawing. Each grand prize shall consist of a 32 inch television, a blu ray player, and the first three seasons on blu ray discs of "The Walking Dead" television series shows. Each secondary prize shall consist of the first three seasons on blu ray discs of "The Walking Dead" television series shows.
- (d) There will be three drawings conducted on the dates indicated in subsection (a) above to select winners of the grand prizes and secondary prizes. Each drawing shall select 30 entrants. The first five entrants drawn (identified as numbers 1 through 5) in each drawing shall be awarded a grand prize identified in subsection (c). The next five entrants drawn (identified as numbers 6 through 10) shall be awarded a secondary prize identified in subsection (c). The next 20 entrants drawn in this drawing (identified as numbers 11 through 30) will be used as alternate winners, if necessary, in the order drawn. An alternate winner will be awarded the first available unclaimed prize.
- (e) A winner of a grand prize or a secondary prize shall be notified via email that he or she has won a prize. The winner shall be instructed how to verify his or her personal identification.
- (f) A winner shall be sent a claim form via U. S. mail at the time email notification is sent.
- (g) A player who is among the winners selected in this drawing to receive a grand prize or a secondary prize must return his or her completed claim form, and original non-winning ticket entered into the online event drawing and must be received by the Kansas lottery within 30 days following the date of the winners being notified via email. Alternatively, a player who is among the entrants selected as alternate winners in this drawing to receive a prize and as identified in subsection (d) must return his or her completed claim form, and original non-winning ticket entered into the online event drawing within 30 days following the date the alternate winner was sent a claim form via U. S. mail.
- (h) Completed claim forms and non-winning ticket(s) can be mailed by the winners via U.S. Mail to: Kansas lottery, 128 North Kansas Avenue, Topeka, Kansas 66603,

- or the winners can deliver the completed claim form and non-winning ticket by hand to the Kansas lottery claims center in Topeka, Kansas, during normal business hours between 8 a.m. and 5 p.m., excluding holidays and weekends.
- (i) If a player fails to answer any email, respond to any request for information, or fill out any forms required by the Kansas lottery within the time allotted in the winner's notification of winning a grand prize, said win shall be forfeited and the prize awarded to another alternate winner.
- (j) A player can enter the online event drawings an unlimited number of times, but can win a prize in each drawing only one time.
- (k) Each person who enters a Kansas lottery "The Walking Dead" ticket, game number 454, agrees to release The Walking Dead, its parent and affiliated companies, the Kansas lottery and their respective officers, directors, employees, agents, and sponsors from liability of any kind or nature for any loss, claims, damages, or injuries of any kind associated with participation in the drawing or with acceptance and use of any prize.
- (l) Any player entering The Walking Dead Second-Chance Drawing agrees to public disclosure.
- (m) The Kansas lottery reserves the right to substitute prizes at its sole and total discretion of approximate equal value.
- (n) Entrants into the drawing are eligible to win a prize in each drawing, but a non-winning ticket may win only one time. Any alternate entrants selected in the first and second drawings are returned to the pool of eligible entrants for each succeeding drawing. All winners remain in the prize category originally drawn.
- (o) Rules applicable to this online event drawing are contained in K.A.R. 111-17-10 and K.A.R. 111-16-1 *et seq.* (Authorized by K.S.A. 2012 Supp. 74-8710 and 74-8748; implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-10-11-13, Aug. 14, 2013.)

Article 501.—SOUTH CENTRAL GAMING ZONE

- **111-501-107. Wagers.** (a) All wagers at Mississippi Stud Poker shall be made by placing gaming chips and, if applicable, a match play coupon on the appropriate betting areas of the table layout. A verbal wager accompanied by cash shall not be accepted.
- (b) Only players who are seated at the Mississippi Stud Poker table may touch the cards. Once a player has placed a wager and received cards, that player must remain seated until the completion of the round of play.
- (c) All ante wagers at Mississippi Stud Poker shall be placed prior to the dealer dealing the first card. No ante wager at Mississippi Stud Poker shall be made, increased or withdrawn after the dealer has dealt the first card.
- (d) Players who make an ante wager will receive two cards face down. They either fold or buy the first community card by making a 3rd Street wager (equal to 1x, 2x, or 3x their ante). When that card is revealed, they either fold or buy the second community card making a 4th Street wager (equal to 1x, 2x, or 3x their ante). After that card is revealed, a player may either fold or buy the last community card making a 5th Street wager (equal to 1x, 2x, or 3x their ante).

- (e) Any player who places a Mississippi Stud Poker wager may also make an optional 3 Card Bonus side wager by placing gaming chips and, if applicable, a match play coupon on the designated betting area of the table layout. The 3 Card Bonus wager will remain in play even if the player folds his or her Mississippi Stud Poker wager. If the player has placed a wager on the 3 Card Bonus side wager and folds his or her Mississippi Stud Poker wager, the dealer will remove the original Mississippi Stud Poker wager and tuck the folded cards under the player's 3 Card Bonus side wager. A player placing a 3 Card Bonus wager will win the wager if the three community cards constitute at least a pair or higher ranking Mississippi Stud Poker hand. See payout table for odds.
- (f) After each round of play is complete, the dealer shall collect all losing wagers and pay off all winning wagers in accordance with the payout table. (Authorized by K.S.A. 2012 Supp. 74-8710 and 74-8748; implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-10-18-12, Aug. 15, 2012; amended, T-111-10-11-13, Aug. 14, 2013.)
- **111-501-109.** Payout odds. (a) For a winning hand, the ante, 3rd, 4th, and 5th street wagers are paid the same payout odds ranging from 1 to 1 for a pair of jacks, queens, kings or aces to 500 to 1 for a royal flush.
- (b) All winning wagers will receive payout odds using the following payout table:

Hand Ranking	Odds
Royal flush	500 to 1
Straight flush	100 to 1
Four-of-a-kind	40 to 1
Tour or a ranta	10 10 1

Full house	10 to 1
Flush	6 to 1
Straight	4 to 1
Three-of-a-kind	3 to 1
Two pair	2 to 1
Pair of jacks or better	1 to 1
Pair of 6s to 10s	Push

Any hand not listed in this table is a losing hand.

- (c) Notwithstanding the payout odds set forth in (b) above, the aggregate payout limit on all winning wagers for any hand shall be \$25,000 or the maximum amount that one patron could win per round when betting the minimum wager, whichever is greater. The aggregate payout information shall be displayed at the Mississippi Stud poker table.
- (d) All winning 3 Card Bonus side wagers will receive payout odds using the following payout table:

Hand Ranking	Odds
Straight flush	40 to 1
Three-of-a-kind	30 to 1
Straight	6 to 1
Flush	3 to 1
Any Pair	1 to 1

Reg. No.

(Authorized by K.S.A. 2012 Supp. 74-8710 and 74-8748; implementing K.S.A. 2012 Supp. 74-8710; effective, T-111-10-18-12, Aug. 15, 2012; amended, T-111-10-11-13, Aug. 14, 2013.)

Dennis Taylor Executive Director

Register

Doc. No. 042005

Register

V. 32, p. 960

V. 32, p. 960

INDEX TO ADMINISTRATIVE REGULATIONS

This index lists in numerical order the new, amended and revoked administrative regulations and the volume and page number of the *Kansas Register* issue in which more information can be found. Temporary regulations are designated with a (T) in the Action column. This cumulative index supplements the 2009 Volumes of the *Kansas Administrative Regulations* and the 2013 Supplement of the *Kansas Administrative Regulations*.

AGENCY 4: DEPARTMENT OF AGRICULTURE

Reg. No.	Action	Register
4-16-1a	Amended	V. 32, p. 408
4-16-1c	Amended	V. 32, p. 409
4-16-7a	Amended	V. 32, p. 410
4-16-306	New	V. 32, p. 410
4-17-1a	Revoked	V. 32, p. 411
4-17-1c	Revoked	V. 32, p. 411
4-17-300	Revoked	V. 32, p. 411
4-17-302		•
through		
4-17-305	Revoked	V. 32, p. 411
4-28-2	Amended	V. 32, p. 349
4-28-6	Amended	V. 32, p. 499
4-28-8	Amended	V. 32, p. 349
4-28-9		
through		
4-28-16	Revoked	V. 32, p. 349
4-28-33	New	V. 32, p. 499
4-28-34	New	V. 32, p. 500

AGENCY 5: DEPARTMENT OF AGRICULTURE—DIVISION OF WATER RESOURCES

Reg. No.	Action	Register
5-16-1	Amended	V. 32, p. 566
5-16-2	Revoked	V. 32, p. 566
5-16-3	Amended	V. 32, p. 566
5-16-4	Amended	V. 32, p. 567
5-16-5	Revoked	V. 32, p. 567
5-16-6	Amended	V. 32, p. 567
5-16-7	Amended	V. 32, p. 567

AGENCY 9: DEPARTMENT OF AGRICULTURE—DIVISION OF ANIMAL HEALTH

Reg. No. Action		Register
9-7-4	Amended	V. 32, p. 1170
AC	GENCY 10: KANS	

Action

Amended

Reg. No.

10-10-2

10-10-5

	GENCY 11: DEPA GRICULTURE—E CONSERVA	DIVISION OF
	CONSERVA	IION
Reg. No.	Action	Register
11-12-1 through		
11-12-7	Amended	V. 32, p. 501-
A CENICY	14. DEDARTME	NT OF DEVENIUE

AGENCY 14: DEPARTMENT OF REVENUE— DIVISION OF ALCOHOLIC BEVERAGE CONTROL

Reg. No.	Action	Register
14-13-1	Amended	V. 32, p. 148
14-13-2	Amended	V. 32, p. 149
14-13-3	Revoked	V. 32, p. 150

14-13-4 through 14-13-10 Amended V. 32, p. 150, 151 14-13-11 Revoked V. 32, p. 152

14-13-11 Revoked V. 32, p. 152 14-13-13 Amended V. 32, p. 152 14-13-15 Amended V. 32, p. 153 14-13-16 New V. 32, p. 407 14-13-17 New V. 32, p. 408 14-13-18 New V. 32, p. 408

AGENCY 16: ATTORNEY GENERAL

16-8-1		
through		
16-8-7	New (T)	V. 32, p. 864-866
16-8-1		
through		
16-8-7	New	V. 32, p. 1238-1240
16-11-7	Amended (T)	V. 32, p. 916
16-11-7	Amended	V. 32. p. 1289

AGENCY 17: OFFICE OF THE STATE BANK COMMISSIONER Reg. No. Action Register

17-11-18	Amended	V. 32, p. 372
AGE	NCY 22: STATE F	IRE MARSHAL
Reg. No.	Action	Register
22-4-2 22-4-3 22-4-4 22-4-5 22-4-5	Revoked Revoked Revoked New (T) New	V. 32, p. 1217 V. 32, p. 1217 V. 32, p. 1217 V. 32, p. 1217 V. 32, p. 859 V. 32, p. 1217

AGENCY 26: DEPARTMENT FOR AGING AND DISABILITY SERVICES

Reg. No.	Action	Register
26-39-100	Amended (T)	V. 32, p. 867
26-39-100	Amended	V. 32, p. 1241 (continued)

					Ü			
26-50-10	New (T)	V. 32, p. 870	AGE	NCY 82: STATE	CORPORATION	109-5-5	Amended	V. 32, p. 231
26-50-10	New	V. 32, p. 1244		COMMIS	SION	109-11-1	Revoked	V. 32, p. 231
26-50-12 26-50-12	New (T) New	V. 32, p. 871 V. 32, p. 1244	Reg. No.	Action	Register	109-11-3 109-11-4	Revoked Revoked	V. 32, p. 231 V. 32, p. 231
26-50-20	New (T)	V. 32, p. 1244 V. 32, p. 871	82-3-135a	Amended	V. 32, p. 940	109-11-5	Revoked	V. 32, p. 231 V. 32, p. 231
26-50-20	New	V. 32, p. 1244	82-3-602	Amended	V. 32, p. 940	109-11-6	Revoked	V. 32, p. 231
26-50-22	New (T)	V. 32, p. 871	82-3-603	Amended	V. 32, p. 940	109-15-1	Amended	V. 32, p. 231
26-50-22	New	V. 32, p. 1245	82-3-604	Amended	V. 32, p. 941	AGENCY :	110: DEPARTI	MENT OF COMMERCE
26-50-24 26-50-24	New (T) New	V. 32, p. 872 V. 32, p. 1246	82-3-607 82-3-608	Amended New	V. 32, p. 942 V. 32, p. 942	Reg. No.	Action	Register
26-50-26	New (T)	V. 32, p. 873	82-3-1300	14011	v. 52, p. 312	110-6-1	Revoked	V. 32, p. 1049
26-50-26	New	V. 32, p. 1246	through			110-6-1a	Revoked	V. 32, p. 1049 V. 32, p. 1049
26-50-30	New (T)	V. 32, p. 873	82-3-1307	New	V. 32, p. 942, 943	110-6-2		, p
26-50-30 26-50-32	New (T)	V. 32, p. 1247 V. 32, p. 874	82-4-1 82-4-3a	Amended	V. 32, p. 1077	through		
26-50-32	New (T) New	V. 32, p. 374 V. 32, p. 1247	through			110-6-7	Revoked	V. 32, p. 1049, 1050
26-50-34	New (T)	V. 32, p. 874	82-4-3d	Amended	V. 32, p. 1079-1099	110-6-8 through		
26-50-34	New	V. 32, p. 1248	82-4-3f		•	110-6-12	New	V. 32, p. 1050-1053
26-50-36	New (T)	V. 32, p. 874	through	A	V 22 - 1100 1110	110-12-1		· 1
26-50-36 26-50-38	New New (T)	V. 32, p. 1248 V. 32, p. 875	82-4-30 82-4-6d	Amended Amended	V. 32, p. 1100-1119 V. 32, p. 1119	through	D 1 1	V 00 054
26-50-38	New	V. 32, p. 1248	82-4-8a	Amended	V. 32, p. 1121	110-12-6	Revoked	V. 32, p. 854
26-50-40	New (T)	V. 32, p. 875	82-4-20	Amended	V. 32, p. 1121	AGI	ENCY 111: KA	NSAS LOTTERY
26-50-40	New	V. 32, p. 1249	82-4-27	Amended	V. 32, p. 1122			g all regulations filed by
AGENC	Y 28: DEPARTM	IENT OF HEALTH	82-4-29 82-4-39	Amended Amended	V. 32, p. 1122			1988 through 2000 can be
	AND ENVIRO	NMENT	82-4-39 82-4-48a	Amended	V. 32, p. 1122 V. 32, p. 1122			. 52, December 28, 2000
Reg. No.	Action	Register			•			of regulations filed from found in the Vol. 22, No.
28-4-801	Amended	V. 32, p. 1026	AC	GENCY 91: DEPA EDUCAT				ansas Register. A list of
28-4-814	Amended	V. 32, p. 1027						04 through 2005 can be
28-4-816	Amended	V. 32, p. 1028	Reg. No.	Action	Register			. 52, December 29, 2005
28-4-820	Amended	V. 32, p. 1029	91-42-1	New	V. 32, p. 317			of regulations filed from
28-4-821 28-29-109	Amended Amended	V. 32, p. 1030 V. 32, p. 938	91-42-2	New	V. 32, p. 317			found in the Vol. 26, No.
28-29-1600	rinchaca	v. 32, p. 330	AGEN	CY 98: KANSAS	S WATER OFFICE			ansas Register. A list of 008 through November
through			Reg. No.	Action	Register			ol. 28, No. 53, December
28-29-1608	New	V. 32, p. 1194-1199	98-1-1	Amended	V. 32, p. 995			A list of regulations filed
28-30-2 through			98-1-2	Revoked	V. 32, p. 996			through December 21,
28-30-6	Amended	V. 32, p. 522-525	98-2-1	Amended	V. 32, p. 996	2011, can b	e found in the V	Vol. 30, No. 52, December
28-31-260b	New	V. 32, p. 415	98-2-2	Amended	V. 32, p. 996			The following regulations
28-31-268	Amended	V. 32, p. 416	98-2-3				after December	
28-32-13	Amended	V. 32, p. 208	through 98-2-20	Revoked	V. 32, p. 996	Reg. No.	Action	Register
28-35-147a 28-39-164	Amended	V. 32, p. 260	98-4-1	neveneu		111-2-270		
through			through			through 111-2-276	New	V. 31, p. 114-116
28-39-168	Revoked (T)	V. 32, p. 876	98-4-5	Amended	V. 32, p. 996-998	111-2-277	1404	v. 61, p. 111 116
28-39-169a	Revoked (T)	V. 32, p. 876	98-4-6 98-4-7	Revoked Revoked	V. 32, p. 998	through		
28-39-169b 28-39-169c	Revoked (T)	V. 32, p. 876	98-4-8	Amended	V. 32, p. 998 V. 32, p. 998	111-2-282	New	V. 31, p. 582, 583
	Revoked (T)	V. 32, p. 876	98-4-9	Revoked	V. 32, p. 999	111-2-283		
AGE	NCY 40: KANSA DEPARTM	S INSURANCE	98-4-10	Revoked	V. 32, p. 999	through 111-2-286	New	V. 31, p. 648
D 17			98-5-1	Revoked	V. 32, p. 999	111-2-287	New	V. 31, p. 1428
Reg. No.	Action	Register	98-5-2 through			111-2-288	New	V. 31, p. 1428
40-1-20	Amended	V. 32, p. 183	98-5-8	Amended	V. 32, p. 999-1001	111-2-289		
40-2-14a	Amended	V. 32, p. 183	98-5-9	New	V. 32, p. 1001	through 111-2-293	New	V. 32, p. 126-128
AG	ENCY 44: DEPA		98-6-1	Revoked	V. 32, p. 1002	111-2-294	New	V. 32, p. 120 120 V. 32, p. 278
	CORRECT		98-6-3	Amended	V. 32, p. 1002	111-2-295	New	V. 32, p. 278
Reg. No.	Action	Register	98-6-4 98-7-1	Amended	V. 32, p. 1003	111-2-296	New	V. 32, p. 297
44-15-204	New (T)	V. 32, p. 862	through			111-2-297	New	V. 32, p. 297
44-15-204	New	V. 32, p. 1150	98-7-4	New	V. 32, p. 1003, 1004	111-2-298 through		
		ENT OF LABOR—	98-7-6	New	V. 32, p. 1005	111-2-305	New	V. 32, p. 321-324
DIVISION		S COMPENSATION	98-8-1 98-8-2	New New	V. 32, p. 1005 V. 32, p. 1006	111-2-306	New	V. 32, p. 890
Reg. No.	Action	Register	98-8-3	New	V. 32, p. 1006 V. 32, p. 1006	111-2-307	New	V. 32, p. 890
51-9-7	Amended	V. 32, p. 1299			-	111-2-308 111-2-309	New New	V. 32, p. 920 V. 32, p. 920
51-9-15	Revoked	V. 32, p. 836		GENCY 99: DEPA	SION OF WEIGHTS	111-2-310	New	V. 32, p. 920 V. 32, p. 920
51-9-17	Amended	V. 32, p. 88	AGRICO	AND MEA		111-4-3135	New	V. 31, p. 116
AGEN	NCY 60: BOARD	O OF NURSING	D N-			111-4-3136	New	V. 31, p. 121
Reg. No.	Action	Register	Reg. No.	Action	Register	111-4-3137		
60-8-101	Amended	V. 32, p. 1216	99-25-1	Amended	V. 32, p. 960	through 111-4-3142	New	V. 31, p. 274-278
60-9-105	Amended	V. 32, p. 411	99-25-9 99-40-3	Amended Amended	V. 32, p. 960 V. 32, p. 960	111-4-3144	INEW	v. 31, p. 274-276
60-9-106	Amended	V. 32, p. 412				through		
60-9-107 60-12-106	Amended Amended	V. 32, p. 413 V. 32, p. 414	AGEN	REGULATOR	IORAL SCIENCES	111-4-3158	New	V. 31, p. 345-354
60-16-102	Amended	V. 32, p. 1216				111-4-3159		
		DENTAL BOARD	Reg. No.	Action	Register	through 111-4-3162	New	V. 31, p. 583-587
			102-7-3	Amended (T)	V. 32, p. 916	111-4-3163	1404	v. 61, p. 665 667
Reg. No.	Action	Register		AGENCY 109: I	BOARD OF	through		
71-3-9	Amended	V. 32, p. 504	EME	RGENCY MEDI	ICAL SERVICES	111-4-3171	New	V. 31, p. 613-617
	GENCY 81: OFF		Reg. No.	Action	Register	111-4-3172		
	CURITIES COM		109-1-1	Amended	V. 32, p. 226	through 111-4-3181	New	V. 31, p. 649-656
Reg. No.	Action	Register	109-1-1a	Revoked	V. 32, p. 229	111-4-3182		, r. 022 000
81-14-9	Amended	V. 32, p. 1235	109-2-5	Amended	V. 32, p. 612	through	N.T.	T7 04 4400 4411
81-14-11	New	V. 32, p. 1238	109-5-3	Amended	V. 32, p. 230	111-4-3196	New	V. 31, p. 1429-1441

111-4-3197			111-7-249			111-401-172		
through			through			through		
111-4-3203	New	V. 31, p. 1468-1470	111-7-254	New	V. 32, p. 300-302	111-401-177	More	V. 32, p. 302-305
111-4-3203	inew	v. 31, p. 1400-1470	111-7-254	New	v. 32, p. 300-302			
						111-401-174	Amended	V. 32, p. 1009
through	N.T.	N 01 1541 1545	through	NI	V 22 - 252 254	111-401-178		
111-4-3211	New	V. 31, p. 1541-1547	111-7-260	New	V. 32, p. 353, 354	through		
111-4-3212			111-9-174	New	V. 31, p. 122	111-401-194		V. 32, p. 329-334
through		** ** ***	111-9-175	New	V. 31, p. 123	111-501-9	Amended	V. 31, p. 124
111-4-3216	New	V. 32, p. 128-131	111-9-176	New	V. 31, p. 124	111-501-12	Amended	V. 31, p. 659
111-4-3217			111-9-177	New	V. 31, p. 360	111-501-14		
through			111-9-178	New	V. 31, p. 1442	through		
111-4-3223	New	V. 32, p. 153-159	111-9-179	New	V. 31, p. 1442	111-501-26	New	V. 31, p. 124-129
111-4-3224	New	V. 32, p. 278	111-9-180	New	V. 31, p. 1470	111-501-35		
111-4-3225	New	V. 32, p. 298	111-9-181	New	V. 31, p. 1471	through		
111-4-3226	New	V. 32, p. 299	111-9-182	New	V. 32, p. 132	111-501-81	New	V. 31, p. 129-146
111-4-3227			111-9-183	New	V. 32, p. 133	111-501-44	Amended	V. 32, p. 974
through			111-9-184	New	V. 32, p. 354	111-501-45	Amended	V. 32, p. 976
111-4-3232	New	V. 32, p. 324-327	111-9-184a	New	V. 32, p. 967	111-501-61	Amended	V. 31, p. 1549
111-4-3233		. 1	111-9-185	New	V. 32, p. 355	111-501-82	imenaca	v. 61, p. 1615
through			111-9-185a	New	V. 32, p. 968	through		
111-4-3236	New	V. 32, p. 350-352	111-9-186	New	V. 32, p. 594	111-501-102	More	V 21 n 620 628
111-4-3237		, 1	111-9-186a	New	V. 32, p. 968	111-501-102	New	V. 31, p. 620-628
through			111-9-187	New	V. 32, p. 594			
111-4-3250	New	V. 32, p. 585-594	111-9-188	New	V. 32, p. 1059	through	NT	V 22 - 1/2 1/7
111-4-3251	14011	v. 62, p. 666 671	111-9-189	New	V. 32, p. 1059	111-501-117		V. 32, p. 162-167
through			111-15-1	Amended	V. 32, p. 280		New	V. 32, p. 306
111-4-3263	New	V. 32, p. 811-819	111-15-2	Amended	V. 32, p. 280	111-501-119		V. 32, p. 167
111-4-3264	New	V. 32, p. 811-619 V. 32, p. 890	111-15-3	Amended	V. 32, p. 280	111-501-120		V. 32, p. 167
111-4-3265	New	V. 32, p. 891	111-15-5	Amended	V. 32, p. 281	111-501-121	New	V. 32, p. 167
111-4-3266	New	V. 32, p. 891 V. 32, p. 892	111-15-6	Amended	V. 32, p. 281	ΔCF	NCV 115: DE	PARTMENT OF
	- 14	1.02/ p. 032	111-15-12					AND TOUDISM
111-4-3267	- 12		through					AND TOURISM
111-4-3267 through				New	V. 32, p. 897, 898	WILD		
111-4-3267 through 111-4-3271	New	V. 32, p. 921-923	through	New New	V. 32, p. 897, 898 V. 31, p. 279	WILD! Reg. No.	LIFE, PARKS, Action	Register
111-4-3267 through 111-4-3271 111-4-3272			through 111-15-20		V. 31, p. 279 V. 31, p. 619	WILD! Reg. No. 115-2-1	LIFE, PARKS, Action Amended	Register V. 32, p. 1299
111-4-3267 through 111-4-3271 111-4-3272 through	New	V. 32, p. 921-923	through 111-15-20 111-17-3 111-17-4 111-17-5	New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159	WILD! Reg. No. 115-2-1 115-2-3	LIFE, PARKS, Action Amended Amended	Register V. 32, p. 1299 V. 32, p. 482
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278	New New	V. 32, p. 921-923 V. 32, p. 961-966	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6	New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282	WILD! Reg. No. 115-2-1 115-2-3 115-4-4	Action Amended Amended Amended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3279	New New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006	through 111-15-20 111-17-3 111-17-4 111-17-5	New New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a	Action Amended Amended Amended Amended Amended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3279 111-4-3280	New New	V. 32, p. 921-923 V. 32, p. 961-966	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6	New New New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11	Action Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281	New New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6a 111-17-7 111-17-8	New New New New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1	Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 200 V. 32, p. 483 V. 32, p. 854
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through	New New New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6a 111-17-7	New New New New New New	V, 31, p. 279 V, 31, p. 619 V, 32, p. 159 V, 32, p. 282 V, 32, p. 328 V, 32, p. 595 V, 32, p. 821 V, 32, p. 1060	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3279 111-4-3280 111-4-3281 through 111-4-3285	New New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6a 111-17-7 111-17-8	New New New New New New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1	Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 200 V. 32, p. 483 V. 32, p. 854
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3279 111-4-3280 111-4-3281 through 111-4-3285 111-5-23	New New New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6a 111-17-7 111-17-8 111-17-9	New New New New New New New	V, 31, p. 279 V, 31, p. 619 V, 32, p. 159 V, 32, p. 282 V, 32, p. 328 V, 32, p. 595 V, 32, p. 821 V, 32, p. 1060	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 1300
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-4-3285 through	New New New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14	New New New New New New New New Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p, 361	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3279 111-4-3280 111-4-3281 through 111-5-28 through	New New New New Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6	New New New New New New New New Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p, 361	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3289 111-4-3281 through 111-4-3285 111-5-23 through 111-5-28 111-5-31	New New New New Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32	New New New New New New New New Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p, 361	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-41 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-31 111-5-31	New New New New Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6a 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-6 111-301-32 through	New New New New New New New New Amended Amended	V, 31, p. 279 V, 31, p. 619 V, 32, p. 159 V, 32, p. 282 V, 32, p. 328 V, 32, p. 595 V, 32, p. 821 V, 32, p. 1060 V, 31, p. 361 V, 31, p. 658	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-8-1 115-8-2	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-28 111-5-31 111-5-33 111-5-33	New New New New Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through	New New New New New New New New Amended Amended	V, 31, p. 279 V, 31, p. 619 V, 32, p. 159 V, 32, p. 282 V, 32, p. 328 V, 32, p. 595 V, 32, p. 821 V, 32, p. 1060 V, 31, p. 361 V, 31, p. 658	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-23 115-9-8	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 89
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3279 111-4-3281 through 111-4-3285 111-5-28 111-5-31 111-5-31 111-5-82 111-5-83	New New New New Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-301-44 111-401-1	New New New New New New New New Amended Amended	V, 31, p. 279 V, 31, p. 619 V, 32, p. 159 V, 32, p. 282 V, 32, p. 328 V, 32, p. 595 V, 32, p. 821 V, 32, p. 1060 V, 31, p. 361 V, 31, p. 658	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 856 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-28 111-5-31 111-5-33 111-5-33	New New New New Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-301-44 111-401-1 through	New New New New New New New New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-8-2 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3279 111-4-3281 through 111-4-3285 111-5-28 111-5-31 111-5-31 111-5-82 111-5-83	New New New New Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-44 111-401-1 through 111-401-50	New New New New New New New New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 389-407	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-5-1 115-5-2 115-6-1 115-8-1 115-8-2 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-18-7	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 483 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 899 V. 32, p. 90
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-31 111-5-31 111-5-83 111-5-83 111-5-83 111-5-83	New New New New Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-301-44 111-401-1 through 111-401-50 111-401-30	New New New New New New New New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 389-407	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-18-7 115-18-7	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 90 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-5-23 through 111-5-33 111-5-33 111-5-82 111-5-83 111-5-82 111-5-127 through	New New New New Amended Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657 V. 32, p. 893-896	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-401-1 through 111-401-50 111-401-51 through	New New New New New New New New Amended Amended New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-18-7 115-40-1 through	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-5-23 through 111-5-28 111-5-33 111-5-83 111-5-83 111-5-83 111-5-132	New New New New Amended Amended Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-401-1 through 111-401-50 111-401-51 through 111-401-118	New New New New New New New New Amended Amended New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 282 V. 32, p. 595 V. 32, p. 595 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-16-5 115-14-1 through 115-40-6	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 850
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-31 111-5-31 111-5-82 111-5-83 111-5-127 through 111-5-127 through 111-5-127	New New New New Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 32, p. 1054-1058 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657 V. 32, p. 893-896	through 111-15-20 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-401-1 through 111-401-50 111-401-51 through 111-401-51 through 111-401-51 through 111-401-18 111-401-18 111-401-18 111-401-18 111-401-18	New New New New New New New New Amended Amended New New New New	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-16-5 115-14-1 through 115-40-6	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3280 111-4-3280 111-4-3281 through 111-5-23 through 111-5-33 111-5-33 111-5-82 111-5-83 111-5-132 through 111-5-132 111-5-132 111-5-132 111-5-132 111-5-132 111-5-132 111-5-132 111-5-200	New New New New Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-301-41 111-401-1 through 111-401-50 111-401-50 111-401-51 through 111-401-51 111-401-63	New New New New New New New Amended New New Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970 V. 32, p. 972	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-16-5 115-14-1 through 115-40-6	Artion Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 884 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-31 111-5-31 111-5-82 111-5-83 111-5-127 through 111-5-127 through 111-5-127	New New New New Amended Amended Amended Amended Amended Amended Amended Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657 V. 32, p. 893-896 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 360	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-6 111-301-44 111-401-11 through 111-401-30 111-401-51 through 111-401-51 111-401-51 111-401-51	New New New New New New New Amended New New Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-16-5 115-14-14 115-16-5 115-40-1 through	Arended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 850 V. 32, p. 856 V. 32, p. 856
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-5-23 through 111-5-23 111-5-33 111-5-83 111-5-83 111-5-132 111-5-132 111-5-132 111-5-194 111-5-200 111-5-201 through	New New New New Amended	V. 32, p. 921-923 V. 32, p. 961-966	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-401-50 111-401-51 through 111-401-51 through 111-401-63 111-401-63 111-401-118 111-401-63 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-109 111-401-119	New New New New New New New Amended New New Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970 V. 32, p. 972	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-16-5 115-14-1 through 115-40-6	Arended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 884 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-31 111-5-31 111-5-82 111-5-83 111-5-82 111-5-83 111-5-127 through 111-5-120 111-5-200 111-5-201 through 111-5-200	New New New New Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657 V. 32, p. 893-896 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 360	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-32 through 111-401-15 through 111-401-51 through 111-401-11 11-401-19 111-401-19 111-401-19 111-401-19 111-401-119 through 111-401-19 111-401-19 111-401-19 111-401-119 through 111-401-19 111-401-19 111-401-19 111-401-19 111-401-119 through 111-401-119 through 111-401-119 through 111-401-119 through 111-401-119 through	New New New New New New New Amended Amended New Amended New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970 V. 32, p. 970 V. 32, p. 972 V. 32, p. 973	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-9-8 115-14-14 115-16-5 115-16-5 115-14-14 115-16-5 115-40-1 through	Arended Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 850 V. 32, p. 856 V. 32, p. 856
111-4-3267 through 111-4-3271 through 111-4-3272 through 111-4-3280 111-4-3281 through 111-4-3285 111-5-23 through 111-5-31 111-5-31 111-5-83 111-5-83 111-5-127 through 111-5-194 111-5-200 111-5-200 through 111-5-200 through 111-5-206	New New New New Amended	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657 V. 32, p. 893-896 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 360 V. 31, p. 360	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-6 111-301-44 111-401-10 111-401-50 111-401-51 through 111-401-11 through 111-401-51 through 111-401-19 111-401-19 111-401-19 111-401-19 through	New New New New New New New Amended Amended New Amended New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970 V. 32, p. 972	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-23 115-9-8 115-14-14 115-16-5 115-16-5 115-14-14 115-16-5 115-40-1 through 115-40-6 Reg. No.	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 1300 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 850 V. 32, p. 850 V. 32, p. 850
111-4-3267 through 111-4-3271 111-4-3272 through 111-4-3278 111-4-3280 111-4-3281 through 111-5-23 through 111-5-33 111-5-33 111-5-82 111-5-132 111-5-132 111-5-132 111-5-132 111-5-132 111-5-132 111-5-200 111-5-201 through 111-5-201 through 111-5-207 through	New New New New New Amended Amended Amended Amended Amended Amended New New	V. 32, p. 921-923 V. 32, p. 961-966	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-44 111-401-10 111-401-50 111-401-30 111-401-50 111-401-50 111-401-10 111-401-10 111-401-10 111-401-10	New New New New New New New Amended Amended New Amended New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970 V. 32, p. 970 V. 32, p. 972 V. 32, p. 973	WILD Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-7-1	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 857 V. 32, p. 857 V. 32, p. 859 P. 858, 859 REAL ESTATE BOARD Register V. 32, p. 89
111-4-3267 through 111-4-3271 through 111-4-3272 through 111-4-3280 111-4-3281 through 111-4-3281 through 111-5-23 through 111-5-33 111-5-82 111-5-132 through 111-5-132 through 111-5-132 through 111-5-132 through 111-5-132 through 111-5-200 through 111-5-201 through 111-5-207 through 111-5-207 through 111-5-207 through 111-5-207 through 111-5-212	New New New New New Amended Amended Amended Amended Amended Amended Nem New New	V. 32, p. 921-923 V. 32, p. 961-966 V. 32, p. 1006 V. 32, p. 1008 V. 31, p. 355-358 V. 31, p. 359 V. 31, p. 279 V. 31, p. 657 V. 31, p. 657 V. 32, p. 893-896 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 359 V. 31, p. 360 V. 31, p. 360	through 111-15-20 111-17-3 111-17-4 111-17-5 111-17-6 111-17-7 111-17-8 111-17-9 111-201-14 111-301-6 111-301-6 111-301-44 111-401-10 111-401-50 111-401-51 through 111-401-11 through 111-401-51 through 111-401-19 111-401-19 111-401-19 111-401-19 through	New New New New New New New New Amended Amended New Amended New Amended New Amended New Amended New Amended Amended New Amended Amended	V. 31, p. 279 V. 31, p. 619 V. 32, p. 159 V. 32, p. 282 V. 32, p. 328 V. 32, p. 595 V. 32, p. 821 V. 32, p. 1060 V. 31, p. 361 V. 31, p. 658 V. 31, p. 1443-1446 V. 31, p. 389-407 V. 32, p. 969 V. 31, p. 427-449 V. 32, p. 970 V. 32, p. 970 V. 32, p. 972 V. 32, p. 973	Reg. No. 115-2-1 115-2-3 115-4-4 115-4-4a 115-4-11 115-5-1 115-5-2 115-6-1 115-7-10 115-8-1 115-8-2 115-8-2 115-8-2 115-14-14 115-16-5 115-18-7 115-40-1 through 115-40-6 Reg. No. 117-7-1 117-20-3	Action Amended	Register V. 32, p. 1299 V. 32, p. 482 V. 32, p. 319 V. 32, p. 320 V. 32, p. 854 V. 32, p. 855 V. 32, p. 855 V. 32, p. 856 V. 32, p. 856 V. 32, p. 856 V. 32, p. 857 V. 32, p. 858 EAL ESTATE L BOARD Register V. 32, p. 226

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594